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Question Number : 1 Question Id : 7532296070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Armaan, Batool, Saniya, Jaimini and Komal are sitting in a straight line, all facing the same direction. Saniya is second to the right of Armaan.
Jaimini is third to the left of Komal. Batool and Komal are not sitting adjacent to each other. Jaimini is at the left end. Who is at the third place
from the left end?

Options :

1. # Batool

2. ¥ Armaan
3. % Komal

4. % Saniya

Question Number : 1 Question Id : 7532296070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® dcd

2. ¢ 3RHAM

3. % DA

4. % gt

Question Number : 2 Question Id : 7532296071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven girls, P, Q, R, S, T, U and V, are watching a cricket match sitting in a line, all facing the north. S is to the immediate left of the girl who is
sitting third to the left of P. U is second to the right of P. Q is second to the left of V, who is second to the left of R. Which of the following
statements is NOT correct?

Options :

1. % T is to the immediate right of Q.

2. % R is sitting between P and U.

3. # P is at the third place from the right end.
4. ¥ V is at the third place from the left end.

Question Number : 2 Question Id : 7532296071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

. % T,Q % a8 3R P A H 93T 8|

2. % R PIARUS STH BT B




3. % pEU AN Y TN YA RIS
4. ¢ VIR I TN ™H RIS

Question Number : 3 Question Id : 7532296072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends, K, L, M, N, O and P, are sitting in two lines with three friends in each line. Both the lines are facing each other. K is facing O, who is
adjacent to N. M is facing N. M is between K and P. Who are NOT sitting in the same line?

Options :

l1.¥ Land K
2. % MandP
3. % Nand O
4. % Land O

Question Number : 3 Question Id : 7532296072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ L3RK
2. % M3RP
3. % N3RO
4. % L3RO

Question Number : 4 Question Id : 7532296073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two teams, with six players in each team, are sitting in two lines. Both the lines face each other. Team-1 has players named A, B, C, D, E and F,
all facing the south. Team-2 has players named P, Q, R, S, T and U, all facing the north. Only F is between D and A. C is at the end. A is second

to the right of C. E is adjacent to C and is facing R. F is facing P. S is at the end and second to the left of P. R is between T and U. A is not facing
U. What is the position of T?

Options :



1. ¥ Facing D

2. # Immediate left of Q
3. % Between P and R
4. % Between P and S

Question Number : 4 Question Id : 7532296073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % D P R gQ fHU gu

2. % QP T8 AR P TAH
3. ¥ PIARRE AT

4. % pIARSH AT

Question Number : 5 Question Id : 7532296074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among 26 students in a class, 7 students scored more marks than Ravi, whereas 16 students scored less marks than Chhavi. Shahid scored more
marks than 15 students. If Shaan scored less marks than Ravi and more marks than Chhavi, how many students scored less marks than Shaan?

Options :
1. % 16
2.9 17
3. % 18
4. % 19

Question Number : 5 Question Id : 7532296074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 16

2.9 17

3. % 18

4. % 19

Question Number : 6 Question Id : 7532296075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The examination of each of six subjects, Hindi, English, Physics, Chemistry, Biology and Economics, is held on one of the six days, that is,
Monday to Saturday. Economics examination is on the next day of Hindi examination. Physics examination is on the next day of Chemistry
examination. Biology examination is on Wednesday. Chemistry examination is neither on Monday nor on Thursday. Which subject’s examination
is held on Saturday?

Options :

1. * Economics
2. * English

3. * Chemistry
4. ¥ Physics

Question Number : 6 Question Id : 7532296075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3pfRId

2. % 3USH

3. % g fagm



4. ¢ fas fag=

Question Number : 7 Question Id : 7532296076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Boxes are kept one above the other. The boxes are numbered from 1 to 9. Two boxes are between Box 9 and Box 1. Box 1 has less than 3 boxes
below it. Box 4 is just above Box 1. Four boxes are between Box 4 and Box 3. Box 8 is just below Box 6. Box 5 and Box 7 are two bottom
boxes. Two boxes are between Box 4 and Box 8. Which is the second box from the top end?

Options :

1. ® Box 3
2. % Box 8
3. % Box 1
4, ¥ Box 6

Question Number : 7 Question Id : 7532296076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 FTeRdl &1 Th & HUR U o SJUR W 7T g | ST BT 1 J 9 TP I (a1 AT g | S1aT 9 3R d1ed 1 & o1g H &l Sfa & | ST |
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Options :

1. % S 3

2. % §IqT 8

3. % S 1

4. Jid 6

Question Number : 8 Question Id : 7532296077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:



All magicians are doctors.
Some magicians are bloggers.
All bloggers are architects.

Conclusions:

I. Some doctors are bloggers.

I1. No doctor is an architect.

II1. Some magicians are architects.

Options :

1. # Only conclusion I follows

2. % Only conclusion III follows

3. % Only conclusions I and II follow

4. % Only conclusions I and III follow

Question Number : 8 Question Id : 7532296077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 9 Question Id : 7532296078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a group of 7 friends, P, Q, R, S, T, U and V, the height of P is less than that of Q but more than that of V. The height of R is less than that of U,
whose height is more than the heights of three persons only. The height of T is more than the height of S. V’s height is more than the heights of
four persons. Who has the maximum height?

Options :
l.* P
2.9 Q
3.% U
4. % T

Question Number : 9 Question Id : 7532296078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 -P,Q R, S, T, USNR VS TH UG H, P HI 0dlTs Q T HH § dfce1 v J 31 g1 R i ddls U T $H g, S| @S dhaal diF
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Options :

1.% P

2.9 Q

3.% U

4. % T

Question Number : 10 Question Id : 7532296079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option that indicates the arrangement of the given words in the order in which they appear in an English dictionary.

1. Craving
2. Crackers
3. Creamy
4. Crash
5. Create



Options :

1. % 4,2, 3,1,5
2.%2.1,4,3,5
3.%2,4,1,5,3
4.¥2,4,1,3,5

Question Number : 10 Question Id : 7532296079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 el faded o1 T8 FIFTY, S 3T 71U Wec] & 3 o B S-1dT 5, o1 HH H 9 3ol Ysqp i H ANl BId /|

1. Craving
2. Crackers
3. Creamy
4. Crash
5. Create

Options :

1. % 4,2,3,1,5
2.%2.1,4,3,5
3.%2,4,1,5,3
4.4 2,4,1,3,5

Question Number : 11 Question Id : 7532296080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following arrangement consisting of letters and numbers carefully and answer the question that follows.

RE45TG6H78IJN2ED42VN8MIMIDSAWE456UP8OT7N60K
How many consonants are immediately preceded and followed by a number?

Options :
1. %3
2.9 4
3.%5
4. % 6



Question Number : 11 Question Id : 7532296080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3feRT SR 3feh! T gad FUTIRIT AT &1 &-YdS 37eqaH B 3R -1d ST WUy HT W G |

RE45TG6H78IN2ED42VNSMIMIDSAWE456UP80OTN6OK
f - ol & 3l Ugd 3R 31 a1g 3ie HING 82

Options :

1. % 3

2. ¥4

3. %5

4.% 6

Question Number : 12 Question Id : 7532296081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, NAVIGATOR is written as JWBOSPUBH, and NOSTALGIA is written as UTPOBJHMB. How will BODYGUARD be
written in the same language?

Options :

1. # JEPBESCVH
2. ¥ ZEPCESBVH
3. % ZEPBCSBVH
4. % ZEPCESBSG

Question Number : 12 Question Id : 7532296081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf3d B U &, NAVIGATOR &1 JWBOSPUBH forRal ST §, 3R NOSTALGIA &1 UTPOBJHMB forar ST 8 | 3 e HIe &
BODYGUARD &I fhdf IR ferar s

Options :

1. % JEPBESCVH




2. ¥ ZEPCESBVH
3. ¥ ZEPBCSBVH
4. % ZEPCESBSG

Question Number : 13 Question Id : 7532296082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, MORTGAGE is written as 6620, and DOORSTOP is written as 5270. How will PENDRIVE be written in the same
language?

Options :

1. ¥ 3954

2. % 3850

3. % 3805

4. % 5240

Question Number : 13 Question Id : 7532296082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AfYd He UTST B MORTGAGE & 6620 3R DOORSTOP & 5270 feraT STTa 8 | 3 e U1 & PENDRIVE &1 fhd TR ferar Smeem?
Options :

1. ¥ 3954

2. % 3850

3. % 3805

4. % 5240

Question Number : 14 Question Id : 7532296083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, FLOORING is written as 57, and MANAGE is written as 34. How will DURABLE be written in the same language?
Options :

1. #® 40

2. % 30



3.¢ 36
4. % 45

Question Number : 14 Question Id : 7532296083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A Fe U & FLOORING &1 57 3R MANAGE @1 34 feraT STl € | St $oe U9 H DURABLE &1 fohd UeR forat Simeem?
Options :

1. # 40

2. % 30

3.9 36

4. % 45

Question Number : 15 Question Id : 7532296084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Malini and Preeti are standing in a park facing each other. If the shadow of Preeti falls to the left of Malini and it is the evening time, which
direction is Preeti facing?

Options :
1. # East
2. * West
3. % North
4. * South

Question Number : 15 Question Id : 7532296084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 7qd

2. % Ufgm



3. ¥ I
4. % gferor

Question Number : 16 Question Id : 7532296085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shayantani walks 26 m straight towards the east, and then she turns left and walks 45 m. From there, she turns right and walks 32 m. After that,
she takes a left turn and walks 28 m. She finally turns left and walks 58 m. How far and in which direction is she now with reference to her
starting point?

Options :

1. ® North, 77 m

2. % North, 73 m

3. ® North, 58 m

4. ® South, 54 m

Question Number : 16 Question Id : 7532296085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IMAAT 26 m Y Yd BT 3R Ferdt &, 3R R 98 918 Gl 8 3R 45 m Iac o | 981 ¥ 98 aI4 Gl & 3R 32 m Il ¢ | I d1G, I8
10 St § MR 28 m T & | 3id H 98 918 Gl § 3R 58 m I o | 3F I8 3 RN foig & Trdet forait gr iR for famm & g2
Options :

]. % JW, 77m

2. ¥ 3R, 73 m

3. % 3T, 58 m

4. % TfEU1, 54 m

Question Number : 17 Question Id : 7532296086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Giru’s wife is the daughter of Naren’s son’s mother, then how is Giru related to Naren’s son’s only sister?
Options :

1. % Brother



2. * Father
3. % Nephew
4. ¥ Husband

Question Number : 17 Question Id : 7532296086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f2 Fire 1 O, R 3 O B T ) 2, A s T R 5 O Y Sl v @ ey
Options :

1. % g

2. % fuar

3. % HSTT/HTSTT

4.« Ofd

Question Number : 18 Question Id : 7532296087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code,

‘A @ B’ means ‘A is the daughter of B’,

‘A * B’ means ‘A is the mother of B’,

‘A > B’ means ‘A is the father of B’, and°A = B’ means ‘A is the wife of B’.
IfP@H*V=N>C=T >R, then which of the following statements is NOT correct?

Options :

1. ¥ N is the paternal grandfather of R.
2. # V is the mother-in-law of T.

3. ® H is the mother-in-law of N.

4. % P is the sister of V.

Question Number : 18 Question Id : 7532296087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U Af3d peumr 4,
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Options :

.¥ N,R BTG 5|

2. %V TH I3

3. % g NBII9RI

4. % pVHITgedgl

Question Number : 19 Question Id : 7532296088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code,

‘A + B’ means ‘A is the wife of B’,

‘A % B’ means ‘A is the husband of B’, and

‘A > B’ means ‘A is the daughter of B’,

then which of the following expressions means ‘S is the father-in-law of U’?

Options :

1.%#P%U>K+S
2.9 U%P>K+S
3. U+P>K%S
4. * U%P>S+K

Question Number : 19 Question Id : 7532296088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Figd pey

'A+B PT3IR-'A, BIHI U B
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Options :



.*P%U>K+S
2.¥U%P>K+S
3. U+P>K%S
4. # U%P>S+K

Question Number : 20 Question Id : 7532296089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘SOAK” is related to ‘PFTX’ in the same way as ‘CLEANER’ is related to © .
Options :

1. ¥ WKSFKQH

2. % WITFJQG

3. ¥ WISFJQH

4. # XJSFJRH

Question Number : 20 Question Id : 7532296089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'SOAK' &I 'PFTX' ¥ T8l ¥&Y §, S 'CLEANER' ®T' ' T g
Options :

1. * WKSFKQH

2. ®* WJTFJQG

3. ¥ WJISFIQH

4. % XJSFJRH

General Ability2

Group Number : 2
Group Id : 753229316
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 753229316
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229381
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532296090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the letter-number cluster pair in which the letter-number clusters share the same relationship as that shared by the given letter-number
cluster pair?

MOP37 : ORT28
Options :

1. ¥ TMA32: VPD46
2. % DHLS57: FKP48
3. % OND33: QQH42
4. % SRP53: UTQ61



Question Number : 21 Question Id : 7532296090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3feRifhd THg! & 39 I BT 99 &3, o 3T 7Y sierifed THgl & ol a8 IaY g, o [GT T I & 3HeRifh® Wil & did g

MOP37 : ORT28
Options :

1. % TMA32: VPD46
2. % DHLS57: FKP48
3. ¥ OND33: QQH42
4. % SRP53: UTQ61

Question Number : 22 Question Id : 7532296091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % KLOSX

2. ¥ ABEIM

3. ¥ MNQUZ

4. % DEHLQ

Question Number : 22 Question Id : 7532296091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3feR-gg feu Mu B, for @ i freht o @ Tv1d § 3R Uep 38T B | 3T 1 T i
Options :

1. # KLOSX

2. ¥ ABEIM

3. % MNQUZ

4. % DEHLQ



Question Number : 23 Question Id : 7532296092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following four letter-cluster pairs are alike in some manner and one is different. Select the one that is different.
Options :

1. ¥ MANGO : ONMGA

2. % PORTS : TSRPO

3. ¥ FORGE : ROEGF

4. % NIGHT : TNIHG

Question Number : 23 Question Id : 7532296092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fT T IR 31eR-THg T § ¥ i fordt dRE 3 WA § SR T SR g | SRTTd &1 99 Sifoig |
Options :

1. ¥ MANGO : ONMGA

2. % PORTS : TSRPO

3. ¥ FORGE : ROEGF

4. % NIGHT : TNIHG

Question Number : 24 Question Id : 7532296093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

28,36, 63, 127, 252,?
Options :
1. ¥ 468
2. %702
3. % 452
4. % 308



Question Number : 24 Question Id : 7532296093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fasedl & @ I e o1 94 piforg, S FRufefad ol & uy g (2) & TIF W 31 It 3|

28, 36, 63, 127, 252 ,?
Options :
1. ¥ 468
2. % 702
3. % 452
4. % 308

Question Number : 25 Question Id : 7532296094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth number in the same way as the first number is related to the second number and the fifth number is
related to the sixth number.

59:7:72:9::74:8
Options :

1. # 85

2. ¥ 9]

3. % 95

4. % 102

Question Number : 25 Question Id : 7532296094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fared o1 oo Piforg, forae it Tem I agl Tae 7, S Ugdl! T &1 gusl T ¥ § 3R uiad] I &1 S G J ]|

59:7:72:9::74: 8
Options :
1. % &85




2.¥091
3. % 95
4. % 102

Question Number : 26 Question Id : 7532296095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the numbers are related in the same way as are the numbers in the given set.

(4, 6, 280)
Options :
1. ® (7,5, 456)
2.9 (3,5, 152)
3. % (8,9, 445)
4. % (7,5,378)

Question Number : 26 Question Id : 7532296095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhe &1 97 Sifore, s &t 718 Twemsht & &t a8t ddd 7, S f3T U 9qg &) T & S gl

(4, 6, 280)
Options :
1. ® (7,5, 456)
2.9 (3,5,152)
3. % (8,9, 445)
4. % (7,5,378)

Question Number : 27 Question Id : 7532296096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four number triads have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :



1. * 14,112, 168
2. % 18,144,216
3.¥ 15,125,185
4. % 21,168,252

Question Number : 27 Question Id : 7532296096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR - U e g, o & fiF foredt aRe & 97 § iR U SRiTId § | 3RTTd &1 99 Siford|
Options :

1. % 14,112, 168

2. % 18, 144,216

3.9 15,125, 185

4, % 21,168,252

Question Number : 28 Question Id : 7532296097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option correctly represents the approximation of the given number to four decimal places?

235.2347889
Options :

1. ¥ 235.2350
2. % 2352347
3. % 235.2000
4. % 235.2348

Question Number : 28 Question Id : 7532296097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 1 faped & 1T W1 B IR AT WIHI db e P Tgl <11 T SITar g2




235.2347889
Options :

1. % 2352350
2. % 235.2347
3. % 235.2000
4. % 235.2348

Question Number : 29 Question Id : 7532296098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’ and ‘D’ denotes ‘division’, then what will be the value of the
following expression?

25B(15D3)A19A(7TBS5)D5C (4 A7)
Options :
1. * 108
2. % 116
3.9 120
4. % 128

Question Number : 29 Question Id : 7532296098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A" BT 372 ST §, ‘B &1 3 UM 8, 'C' BT 31 "er § iR ‘D &1 3 U B, A ufeiea < &1 A o g

25B(15D3)A19A(7TB5)D5C(24 A7)
Options :
1. ® 108
2. % 116
3.9 120
4. % 128

Question Number : 30 Question Id : 7532296099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the given equation correct?

64 x16+8+72-48=56
Options :

1. ® +and +

2. % +and x

3. % +and -

4. % xand —

Question Number : 30 Question Id : 7532296099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T g1 B Wl B o ot fob <l Fagl & 3o | daar o 9nfew?

64 x 16 +8+72—-48=56
Options :

1. % + 3R~
2. ¢ = 3R x
3. % 1 3R -
4. % x 3R -

Question Number : 31 Question Id : 7532296100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the set of classes the relationship among which is best illustrated by the following Venn diagram.

Options :
| = Grandparents, Mothers, Children

» % Doctors, Graduates, Engineers
; w» Carpenters, Plumbers, Professionals

4 Mothers, Females, Daughters

Question Number : 31 Question Id : 7532296100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I o 39 G b1 98 DI, f5Fich did ol Yee fGU Y 9 3RW gRT Farad 71 4 U iRid gidl g

©

Options :

P A AL RS I | LA




[

5 % SIFCY, WD, JOIHR

4 v AT, Afgwny, sfeat

Question Number : 32 Question Id : 7532296101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Each of the letters given below has been assigned a unique number. Select the combination of numbers such that the

corresponding letters when arranged accordingly will form a meaningful word.

E E E B D A C
1 2 3 + 5 6 T
Options :

I-J
:-!
(Y]

1. W 5. 4-.. 6. L. -
@ 5 1,4,6,7,2,3

3% 41,57,6,2,3

N

4&,3 -4-.1.?.3-.216

Question Number : 32 Question Id : 7532296101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1 fou T 2Rt & O e o Ue ARy e anafed foar mar g1 3t & 39 WU &1 994 Situg, fordss
TR WA &Rl ! HARYT HA IR U i s §1a1 5 |

E L. E B D A 9
1 2 3 4 5 6 7
Options :

| » 546 1,208

Question Number : 33 Question Id : 7532296102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



You have to determine the code for the given word. Consider the following table for numbers and its respective codes.

[

3 6|17 |8 |9
Codes G|S|IR|Q|C|Z|U|W|X

S
L]

Numbers | 1

a) If both the first and last numbers are odd numbers, then both the numbers will be coded as F.

b) If the second number is an odd number and the third number is an even number, then both the numbers will be
coded as Y.

¢) If the fourth number is an even number and the sixth number is an odd number, then both the numbers will be
coded as H.

What is the code for *542287642" as per the given information?
Options :
x CQSSWUZQS

1
, » CQSHWHZQS
; % CQHSHWZHS
, x CYYHWHZQS

Question Number : 33 Question Id : 7532296102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AU 3T TIU RMeg & O Fe/dls FYRG &1 8 | el 3R 39 Ud de/dis & (o Y difas] R [9aR
o |

[
Lad
P
N
Lo
~]
[#'al
o

——

Fedis|c [s [R [Q [c |z |u [w [x

a) Tic ggell 2R 3ifcH SHT Ty, fqwH W €, dl GiF! Serel &1 F & &9 § feds (Bl S|
b) GG GO TS Udh fauw TRl 8 SR AN]SR Uh 9H U 6. dl & Geelefl bl vy o U U fedsg [l

G|
c) TS AT TS Ueh TH AT § 3R S A1 Ueh fquH 1 8, ol &1 Sl Bl H &b &Y H Hod [ddl

I

&l 7% STFBRI & STHR 542287642 6] He/hIS I 82
Options :

| % CQSSWUZQS

, » CQSHWHZQS

3 » CQHSHWZHS

4, x CYYHWHZQS

Question Number : 34 Question Id : 7532296103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option figure that can replace the question mark (?) in the given figure to complete the pattern if no rotation

allowed.
2&
Options




Question Number : 34 Question Id : 7532296103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fache &1 707 o3 ol 1 7S SN1gpfa 3 Uy g (0) B UfRefiid % IhdT & SR e ol T R 9abdl 8 afg
g &1 AR Tl 2

N

"J

Options :




Question Number : 35 Question Id : 7532296104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure will replace the question mark (?) in the following figure series?

N\ S| & S S
S o7 |

S

Options :

G
S




2. ¥
=
NS
3. %
«
‘%@%
4. %

Question Number : 35 Question Id : 7532296104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeiad sfiepia gae § oIF-U 2l Usards g (2) &I uiaiiud S

\ ] L1 &1 &,
@@5 @{\% “?@ @Q, &f@ )
Options :

«

&
1. %




2. ¢

3. %

Question Number : 36 Question Id : 7532296105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

— K3
L G L2
Ty
A B C D
Options :
D)
e—




G
2. % b
0
3. % =
D
'(_
4. ¢

Question Number : 36 Question Id : 7532296105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y [Geheq &1 99 &< ol AP ¢ Y I UHR Tald g [ bR APl B, ATHId A Y Jelda g |

= E

L G L

2
A B C D
Options :

*w




h_
1. %
G
2. % b
v,
l(_
3. %
9
'l_
4.9

Question Number : 37 Question Id : 7532296106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :



o
i
g
=

Question Number : 37 Question Id : 7532296106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed IR snefagl | 9 74 [ v Mg e 3 99 § ok Us [9vd ¢ | 34 ¥ [aud &1 997 3|

Options :

1. %



2. ®

Question Number : 38 Question Id : 7532296107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P
PRESCRIPTION
Q

Options :

 « DEECCEIBLION

,x MOITI9AD 2449



, o MOITAIADZH A

,x bDBE2CEDILIOMN

Question Number : 38 Question Id : 7532296107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& 71T TgToi o TE! U UidfSa &1 99 & o/ G40l &l fG@T U 3 9R PQ TR TW1 4T & |

P
PRESCRIPTION'
Q

Options :

. bBEE2CEKIbLIOMN

,« MOITIGAD 2949
L MOITAIAD 2349

,« DBEE2CEDBILIOMN

Question Number : 39 Question Id : 7532296108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

. &
. - . .
L] Ll ¥ L
H - r 1
.
* » . L)
] + . &
F ' .
- + L
F . C
" L] *
N r L ®
o SR e s

Options :

m|
000
m|

1. ®
O
o0
O
2. %
O
o O
O
3. ¢



Question Number : 39 Question Id : 7532296108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTGl & U b o Dl AIS &1 o AR 58 TR I g gU HNTS &I HIel 741 €, 98 1914 &I FufiaRad sepfaar
¥ fexamar T 8 | GieH UR 98 BRTS bl farg oil?

3. ¢



Question Number : 40 Question Id : 7532296109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the given figure is embedded (rotation is NOT allowed).

n

Options :




3.¢

Question Number : 40 Question Id : 7532296109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed o1 90+ & foraw 1 718 opfa afafed 8 (0 &1 oAl el ©) |

n

Options :




3.%

T
4. %

General Awarenessl1

Group Number : 3
Group Id : 753229317
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awarenessl

Section Id : 753229317
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229382
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532296110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In February 2021, the ‘Abhyudaya’ scheme launched by the Uttar Pradesh government is related to:
Options :

1. % subsidy for farmers

2. ¥ women empowerment

3. ¥ free coaching

4. % Joan for street vendors

Question Number : 41 Question Id : 7532296110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRAX! 2021 H, IR UG MBR GRIYE B 115 SYST Ao J I g
Options :

1. # fopaml o forg afesyst

2. % Tfgdl Ifaqdrul

3. Jﬁwﬁ%ﬂ

4. % e ey (BRiaman) & fag B




Question Number : 42 Question Id : 7532296111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DigiSaksham is a joint initiative by the Labour Ministry and to enhance the employability of the youth. It was launched by the Minister
of Labour and Employment, Bhupender Yadav, in September 2021.

Options :

1. % Infosys
2. ¥ Microsoft
3. % Google
4. % Apple

Question Number : 42 Question Id : 7532296111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fSSTNI&™ (DigiSakham), JaTST B ISHIR &HAT Bl T & 04 YH HAAT 3R &1 Ygad Ugd g, orent JURY RideR 2021 H 97
3R ISR Tt yU's A1ed gRT e |

Options :

1. % SHIRMY
2. ¢ HISHIEIT
3. ® 1[I

4, % T

Question Number : 43 Question Id : 7532296112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following missions was approved by the Punjab Cabinet aimed at facilitating villagers to monetise property rights and availing
benefits provided by the government?

Options :
1. # Mission ‘Haritha Keralam’
2. ® Mission ‘Aardram’

3. % Mission ‘Bagayat Vikas’



4. % Mission ‘Lal Lakir’

Question Number : 43 Question Id : 7532296112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 forg iR & dotre Sfane 3 srAifed fasar o, ot Ie=a Treion & forg Tufty & SifsRI BT TRl R 3R IRBR R
Ua T 78 a4l &1 SUds BT UT?

Options :

1. % gRa oraw fi=H

2. % e flRE

3. % R faer fBRE

4. ¥ A DR fHRE

Question Number : 44 Question Id : 7532296113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ministries is implementing the ‘Seekho aur Kamao (Learn and Earn)’ since 2013-14 and is aimed at skill development of
minorities?

Options :

1. # Ministry of Labour and Employment

2. % Ministry of Minority Affairs

3. # Ministry of Social Justice and Empowerment
4. % Ministry of Women and Child Development

Question Number : 44 Question Id : 7532296113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore T 7 2013-14 T IRGY 3R HHIS (@ TS 34) TSHT AN B1 7, DT Ie S0 | &1 HId fAewT ST 82
Options :

1. % 90 Ud ISR HATT

2. ¢ TSP BT HATT

3. % TSP <Y T S{fYBTRAT HAT




4. % Afgd ud 91d fab1g #a1ag

Question Number : 45 Question Id : 7532296114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries played the final of the ICC T20 Men’s World Cup 2021?
Options :

1. # England and Australia

2. # Pakistan and England

3. % New Zealand and Pakistan

4. ¥ New Zealand and Australia

Question Number : 45 Question Id : 7532296114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 for1 €1 <=0 7 1CC T-20 TBY 3% 1 2021 HT B Wl UT?
Options :

1. % $7clS 3R Siieefer

2. % Urfored™ 3R §icie

3. % ol 3R UTford™

4. ¢ oileis 3R sieferan

Question Number : 46 Question Id : 7532296115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To whom among the following was the subadari of Agra given in 1722 by the Mughal emperor?
Options :

1. ® Maharaja Ratan Singh

2. % Maharana Raj Singh I

3. #® Maharaja Ajit Singh Rathore

4. ¥ Sawai Raja Jai Singh



Question Number : 46 Question Id : 7532296115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1722 H T HIE A 3TRT & geaR! fod Adt oo
Options :

1. % HERIST I g

2. ® HERIUN IS g UuH

3. % TGRS 3feiid g ISR

4. ¢ gaTs o1 o g

Question Number : 47 Question Id : 7532296116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which dynasty did Mahendravarman I belong who was defeated by Pulakesin 11?7
Options :

1. ¥ Pallava

2. % Chola

3. % Rashtrakuta

4. ¥ Hoysala

Question Number : 47 Question Id : 7532296116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tegar v 6w 69w § Wefid 3, 5= gaeRM fedia 3 wifsra fasar ur
Options :

1. ¥ Uctld

2. % e

3. ® PHC

4. % grOgd



Question Number : 48 Question Id : 7532296117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Treaty of Rawalpindi concluded in August 1919 between the British India and:
Options :

1. ¥ Afghanistan

2. % Bhutan

3. % Burma

4. % Sri Lanka

Question Number : 48 Question Id : 7532296117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 1919 H, fafe=r 4Rd ok & dig Iaarde! i A T gs A
Options :

1. ¢ UTEI

2. % Y

3. % §of

4. % giciop1

Question Number : 49 Question Id : 7532296118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the court of appeal ‘the Sadar Nizamat Adalat’ set up under the Regulating Act of 1773?
Options :

1. # Madras

2. ¥ Calcutta

3. % Delhi

4. ¥ Hyderabad

Question Number : 49 Question Id : 7532296118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafrore Sifaf T, 1773 o dgd Ul =raTerd, Hex FSHd sfared dgi RIIfud fdar ar U1
Options :

1. % Hglg

2. ¥ dHdhdl

3. % faeedt

4. % BREIG

Question Number : 50 Question Id : 7532296119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The treaty of Salbai was signed on May 17, 1782, by representatives of the Maratha empire and the British East India Company after the:
Options :

1. ¥ First Anglo-Maratha War

2. # Second Anglo-Maratha War

3. % Third Anglo-Maratha War

4. # Fourth Anglo-Maratha War

Question Number : 50 Question Id : 7532296119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P ae, TS gy 3R fafew S Sfear umh & ufafAfiat gr1 17 72 1782 ) Uraiers @ IfY IR gEieR fu i Q)
Options :

1. ¢ UYH ATA-FRIST I&

2. % fgdlg offa- R8T 4 &

3. % Y 3A-TRI3T 4G

4. % g% S-S &

Question Number : 51 Question Id : 7532296120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In 1929, the Child Marriage Restraint Act was passed. According to the Act, what was the minimum age for a man to marry?
Options :

1. ¥ 18 years

2. % 16 years

3. % 17 years

4. % 15 years

Question Number : 51 Question Id : 7532296120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iﬁzﬁwmﬁﬁw St uria foram T 1| 39 fAfFH & SR f9aTe & & ol s &1 <gad 8ig fean Muiia &1 15
?

Options :

1. ¢ 1899
2. % 16TY
3. % 1799
4. % 1599

Question Number : 52 Question Id : 7532296121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which century was a unique amalamation of Hindu and Islamic art and architectural techniques, the spectacular Rangeen Mahal built in Bidar?
Options :

1. # 15th

2. % 16th

3. % 17th

4. % 18th

Question Number : 52 Question Id : 7532296121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dier H, g 3R XA el IUT IRGH AT b1 & Udh IS JHHEH dTd Hed WiF Hed &1 (AT forg Tet § g1 Um




Options :
1. % 1591
2. 1641
3. % 17d]
4. % 189)

Question Number : 53 Question Id : 7532296122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The great stupa at Sanchi was built with bricks during the time of:
Options :

1. ¥ Ashoka

2. % Samudragupta

3. # Pushyamitra Shunga

4. % Harshavardhana

Question Number : 53 Question Id : 7532296122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e afffoatis v x@e AT S oA gsm
Options :

1. ¥ 3

2. % FHEE

3. % Ui g

4. % gyqaeq

Question Number : 54 Question Id : 7532296123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following folk dances is mainly performed in Karnataka?
Options :



1. ¥ Dollu Kunitha
2. # Chhanak Chham
3. % Kullu Nati

4. # Pandav Nritya

Question Number : 54 Question Id : 7532296123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ®F I e T T U 9 HHfed J gidl 82
Options :

1. ¢ S PA1UT (Dollu Kunitha)

2. % 9P SH (Chhanak Chham)

3. % Pl AT (Kullu Nati)

4. % UT8d Jd (Pandav Nritya)

Question Number : 55 Question Id : 7532296124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is a dance form that is more than 500 years old and comes from the Vaishnavite monasteries of Assam?
Options :

1. % Kuchipudi

2. % Kathak

3. ¥ Mohiniyattam

4. ¥ Sattriya

Question Number : 55 Question Id : 7532296124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 HIHF-T T Al &, S 500 T I 31w R § 3R 397 & I0rG 7o J Hafdd g2

Options :

1. ® Pegst



2. % HYDH
3. % Hifgiieren
4. ¢ GHAI

Question Number : 56 Question Id : 7532296125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dances does NOT belong to Chhattisgarh?
Options :

1. # Pandwani dance

2. # Panthi dance

3. % Raut Nacha dance

4. ¥ Grida dance

Question Number : 56 Question Id : 7532296125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ®F 1 70 T T I SURATG § Iad 781 &2
Options :

1. % GSdH T

2. % U™

3. % [3d AN T

4. ¢ ST

Question Number : 57 Question Id : 7532296126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a form of classical Carnatic music?
Options :

1. ¥ Gitam

2. ® Jatisvaram



3. % Svarajati
4. ¥ Nibaddha

Question Number : 57 Question Id : 7532296126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 4 D19 I IR HrATed Wid D1 T Qall Tol 62
Options :

1. % TdH (Gitam)

2. % WAy (Jatisvaram)

3. % WRISIA (Svarajati)

4. ¢ 99g (Nibaddha)

Question Number : 58 Question Id : 7532296127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which of the following gharanas does Ustad Faiyaz Khan and Ustad Vilayat Hussain Khan belong?
Options :

1. % Jaipur gharana

2. % Rampur Saheswan gharana

3. ¥ Agra gharana

4. % Gwalior gharana

Question Number : 58 Question Id : 7532296127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS BTN WH 3R ITe faamad gaq @ fgfeiad § 9 ford evm @ gefda |2
Options :

1. % SOQR ORAT

2. % JAR-TEYIH TR

3. ¢ TRT IRAT




4. % TR ORIl

Question Number : 59 Question Id : 7532296128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a festival in Gujarat that is held on the full moon of Bhadrapad at the temple of the goddess Ambaji in the city of
Ambaji?

Options :

1. % Rann Utsav

2. ®* Shamlaji Fair

3. # Vautha Fair

4. ¥ Bhadra Purnima Fair

Question Number : 59 Question Id : 7532296128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & Q ®F 1 ABR UIEUT $1 GO o) ToRTd & 3faToh e & <dt sfareh & Hiex F Smaiford forar sirar g2
Options :

1. % O3

2. % QrHASI Hell

3. % R

4. g gforeT Hel

Question Number : 60 Question Id : 7532296129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following festivals is commonly celebrated by the tribe of 'Boro Kacharis' of Assam?
Options :

1. ¥ Baishagu Festival

2. % Sazo Festival

3. # Losar Festival

4. % Halda Festival



Question Number : 60 Question Id : 7532296129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T B IR HERY TS GRT JHEFI: DI A1 AR T1T ST 82

Options :
1. ¥ SR ABR
2. % HToll AIBR
3. % YRR TIER
4. % geal AIBR
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Question Number : 61 Question Id : 7532296130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the estimated fiscal deficit for 2021-22?
Options :

1. ® 5.4%

2. % 59%

3. % 4.5%

4. ¥ 6.8%

Question Number : 61 Question Id : 7532296130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole TTah e 2021-22 & IR, UdRId o 814 ©1et fara T 82
Options :

1. ® 5.4%

2. % 59%

3. % 4.5%

4. ¥ 6.8%

Question Number : 62 Question Id : 7532296131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was India’s rank in the human development index 2020 issued by the United Nations Human Development Programme?
Options :

1. % 133

2. % 132



3. ¥ 131
4. % 130

Question Number : 62 Question Id : 7532296131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1Y W AT BHRIHH GRT TR AHG BT Gabie 2020 H HRA BT I I R Y12
Options :

1. % 133

2. % 132

3.9 131

4. % 130

Question Number : 63 Question Id : 7532296132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did India change its foreign direct investment (FDI) regulations to allow investments of up to 74% in the defence manufacturing
sector under its automatic route, which was previously limited to 49%?

Options :
1. % 2018
2. %2019
3.9 2020
4. % 2021

Question Number : 63 Question Id : 7532296132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9, YRA = U= ad: fgHITGd N & dad, & fafamor & & 74 Ufa=d de a1 &1 Srgafd <7 & Ay s weaes faceh fawr
(FDI) o § sgad fovan o1, S fob uga 49 ufa=id a& difa um

Options :

1. #® 2018

2. % 2019



3. %2020
4. % 2021

Question Number : 64 Question Id : 7532296133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The government in October 2021 issued a letter of intent (LOI) confirming the sale of its 100% stake in loss-making Air India to Tata Group for:
Options :

1. % 215,000 crores

2. % 217,000 crores

3. % 216,000 crores

4. ¥ 18,000 crores

Question Number : 64 Question Id : 7532296133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JTCER 2021 H, TRPR A TH 3R UF (TAASTE) ST H2 °1¢ T e g1 TR a1 H g1 100 Ufa=d TR, erel g &1
ST H o9 1 gfp 31 ot

Options :

1. % 15000 RIS

2. % 17000 IRIS

3. % 16000 RIS

4. ¥ 18000 RIS

Question Number : 65 Question Id : 7532296134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The region with less than 70 cm of rainfall and found in the north-western part of the country is called:
Options :

1. % tropical evergreen forests

2. ¥ tropical thorn forests and scrubs

3. ¥ mangrove forests



4. % montane forests

Question Number : 65 Question Id : 7532296134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AV H IWIFH U AU IR IA 70 cm A FH I ad & dl SIS gl
Options :

1. % IUGICTdT TaIagR o+

2. ¢ IWGHTeEE HicaR a7 3R Sfeat

3. % TOE I

4. % qdcfig o

Question Number : 66 Question Id : 7532296135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is situated at the end of the Pindari glacier and links Pindari valley to Milam valley?
Options :

1. ¥ Traill’s Pass

2. % Niti Pass

3. ®# Thang La Pass

4. % Mana Pass

Question Number : 66 Question Id : 7532296135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 X USRI WRER & BR W fRUd § 3R iR ardt & fiaw ardt ¥ Siedr g2
Options :

1.V SADPT R

2. % AR

3. % yirar e

4. % TR



Question Number : 67 Question Id : 7532296136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As the river enters the plain, it twists and turns to forming large bends known as:
Options :

1. % ox-bow

2. ¥ meanders

3. % delta

4. % levees

Question Number : 67 Question Id : 7532296136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R BT el THad & H U Al 8, I8 I HIS §HId gU HSdl 8 3R g 5, o HET g

Options :

1. ® Tﬁ@?(ox—bow)
2. ¥ ﬁﬂﬁ(meanders)
3. ® ST (delta)

4. % dcdY (levees)

Question Number : 68 Question Id : 7532296137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Census of 2011, the share of the under-15 age group in the total population has come down from its highest level of 42% in
1971 to in 2011.

Options :
1. % 25%
2.9 29%
3. % 21%
4. % 31%



Question Number : 68 Question Id : 7532296137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%onaﬁuwuuml%ajwe,@m ST H 15 99 ¥ Y 31 I &1 fgRIGRT, 1971 T 30 I=dd Wk 42% F TR 2011 & HRIE]
|

Options :

1. % 25%

2. 29%

3. % 21%

4. % 31%

Question Number : 69 Question Id : 7532296138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Census of 2011, which of the following states has the maximum male literacy rate?
Options :

1. ¥ Tripura

2. % QOdisha

3. * Punjab

4. * West Bengal

Question Number : 69 Question Id : 7532296138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 T SFRTUFT & SR, FH & 9 forg 9 & ToW WeRdT &R Faiiid g2

Options :

RN
2. % 3fifsTm
3. % U99
4. % Uiy &7

Question Number : 70 Question Id : 7532296139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Salem Steel Plant located?
Options :

1. # Andhra Pradesh

2. # Karnataka

3. % Tamil Nadu

4. # Kerala

Question Number : 70 Question Id : 7532296139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e W wite fg Ioa § Ryd g9
Options :

1. % offy g™

2. % FlcH

3. ¢ TG

4. % P

Question Number : 71 Question Id : 7532296140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct about planet Venus?
Options :

1. # Tt is the second planet from the Sun.

2. ¥ It is Earth’s second closest planetary neighbour.

3. # It’s one of the four inner, terrestrial (or rocky) planets.

4. % Tt has a thick, toxic atmosphere filled with carbon dioxide.

Question Number : 71 Question Id : 7532296140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



b T8 & IR H 9§ § P 91 U= It T8 82
Options :

. % e IACRIUS §

2. ¥ T Gl 1 ¥R Fidhead USi U8 B

3. % U8 IR ARG, RIS (@1 IeH Tgi d 4 Th §

4. % 3TN HIa SRS T HRT 9T, fawrad ardraror g

Question Number : 72 Question Id : 7532296141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following straits connects the Persian Gulf to the Gulf of Oman?
Options :

1. ¥ Hormuz Strait

2. # Bering Strait

3. % Bab al-Mandab Strait

4. # Palk Strait

Question Number : 72 Question Id : 7532296141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I TASHEHY BRY &1 WISt B A &1 TTe! ¥ Sisdl g2
Options :

1. ¥ S SaeT=qH

2. % AT SlTesHEr

3. % §1d 3fd-Jad SASHeH

4. % O SdeHeHY

Question Number : 73 Question Id : 7532296142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Hope Mars Mission, also called the Emirates Mars Mission, is the first Mars mission of:



Options :
1. ¥ UAE
2. # China
3. % Iran

4. % Russia

Question Number : 73 Question Id : 7532296142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 AR firee, O srfRra gl e i e omars, | T ugan Ha FRRE g
Options :

1. ¥ QU3. (UAE)

2. % I

3. % A

4. % TQ

Question Number : 74 Question Id : 7532296143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the cell serves as the cell’s command centre, sending directions to the cell to grow, mature, divide, or die?
Options :

1. ¥ Nucleus

2. % Lysosomes

3. % Mitochondria

4. % Ribosomes

Question Number : 74 Question Id : 7532296143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mmﬁqmmm$ws TeX & U H B BT ©, Sl HIRABT B d¢4, TRUS 814, faHiford g9 a1 ;A & fore fAdw
?

Options :




1. Hadh

2. % RIS
3. % APl
4. ® SR

Question Number : 75 Question Id : 7532296144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following contributed more to the ’quantum model of Hydrogen atom’?
Options :

1. # Enrico Fermi

2. % CH Townes

3. ¥ Hideki Yukawa

4. ¥ Niels Bohr

Question Number : 75 Question Id : 7532296144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T O forem "gT2gioH WRHTY & HicH Arsar | i drTe faar um
Options :

1. % GRS 13|’>_ﬁf(Enrico Fermi)

2. % LTI T3 (C.H. Townes)

3. % fgad! gH1AT (Hideki Yukawa)
4. ¢ F@aR (Niels Bohr)

Question Number : 76 Question Id : 7532296145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements have atomic weight 23 and 35.5, respectively?
Options :

1. % PandS



2. % Mg and Al
3. % Kand Ca
4. % Na and Cl

Question Number : 76 Question Id : 7532296145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & | fopT ddl & TRHTY] HIR SHHTT: 23 3R 35.5 37
Options :

1. % P3RS

2. % Mg 3R Al

3. % K 3R Ca

4.+ Na 3R Cl

Question Number : 77 Question Id : 7532296146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Constitution of India, by which amendment act is Article 48A inserted that is related to the protection and improvement of environment
and safeguarding of forests and wildlife?

Options :

1. % Constitution (Eighty-seventh Amendment) Act, 2003
2. # Constitution (Seventh Amendment) Act, 1956,

3. % Constitution (Forty-second Amendment) Act, 1976
4. # Constitution (Forty-fourth Amendment) Act, 1978

Question Number : 77 Question Id : 7532296146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wgﬁwﬁ,%ﬂaﬁm SITATTTH GRT 3ITw5G 48A B SIST 7T 7, ST UFTARUT & TREUT Td YUR 4T 1 3R T St &1 GRET A
Gefd g2

Options :

1. % Fiay™ (garital denes) sifef=aH, 2003



2. % Hfgem (@raat g=ne) g, 1956,
3. Ty (SaTeigal gRneE) g, 1976
4. % Iy (Farcirdt I=meE) fafaH, 1978

Question Number : 78 Question Id : 7532296147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Articles of the Constitution of India is related to the abolition of the title?
Options :

1. % Article 14

2. % Article 15

3. % Article 17

4.+ Article 18

Question Number : 78 Question Id : 7532296147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfae™ &1 99 & 9 $1F 91 srfade IuTidl & Sid 3 Hefdd 82
Options :

1. % 3Jq 14

2. % TG 15

3. % 3G 17

4. TG 18

Question Number : 79 Question Id : 7532296148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which part of the Constitution of India is the subject-matter of laws made by parliament and by the legislatures of states mentioned?
Options :

1. % Part X

2. % Part XI



3. ¥ Part XII
4. % Part XIV

Question Number : 79 Question Id : 7532296148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TaU™ & forg U & T¥e 3R I1sal Bt fAUTRHTISH §RT §H1E ¢ S| &1 favg-avq Ifcarad 82
Options :

1. % HET X

2. % HIT X1

3. % YT XII

4. ® YT XIV

Question Number : 80 Question Id : 7532296149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following may be removed from office by impeachment in the manner provided in Article 61 for the violation of the
Constitution?

Options :

1. ¥ President

2. # Vice president

3. % Governor

4. % Chief Justice of India

Question Number : 80 Question Id : 7532296149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford Sfaum &1 Ieaiad R W 3Twe 61 H USRI diid I HIHINT GRT UG ¥ g S 9ohdl 87
Options :

1. ¢ gyl

2. ® JuIyufd
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Question Number : 81 Question Id : 7532296150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the valueof kin 2.5 x0.24 X k = 0.012
Options :
1 % 0.18

5 & 0.02
3 % 021

4 % 0.05

Question Number : 81 Question Id : 7532296150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2.5%0.24% k = 0.012 H k & AF Jd SIfoT|
Options :
| % 0.18

5 & 0.02
3 % 021

4 % 0.05

Question Number : 82 Question Id : 7532296151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8.5%2.75+825%3.5

Find the value of

0.5

Options :



» % 624.75
3 @ 624.25

4 % 624.05

Question Number : 82 Question Id : 7532296151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8.5%2.75+825%3.5
TR T HM I HITT

Options :
1. ® 625

, % 624.75

3 & 62425

4 % 624.05

Question Number : 83 Question Id : 7532296152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following.

5.8—-0.008+0.08
0.2




Options :
1.« 7.34

o % 7.25
3 % 7.2
4 % 7.125

Question Number : 83 Question Id : 7532296152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MARTREd & Td S|

5.8—0.008+0.08
0.8

Options :
1.« 7.34

4 % T7.125

Question Number : 84 Question Id : 7532296153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f(u.sz 512 —{0.175)°
0.005

Find the value o

Options :
1 ® 120

» % 124
3 @ 130

4 % 136

Question Number : 84 Question Id : 7532296153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{0.825)% —(0.175)* a:Tl' }:ﬂT_I' s_ﬂﬁ Eﬁﬁqj

0.003

Options :
1 #® 120

, % 124
3 @ 130

4 % 136

Question Number : 85 Question Id : 7532296154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should be subtracted from the difference between 18.3 and 5.28 to get the sum of 16.8 and 0.24?
Options :



| % —30.12
5 v —30.06
3 % 30.06

4 % 30.12

Question Number : 85 Question Id : 7532296154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18.3 3R 5.28 & 2icR H U T U™ UR UId URUMH 16.8 3R 0.24 & TNTHA & a6 gRT?

Options :
| % —30.12

» v —30.06
3 % 30.06

4 % 30.12

Question Number : 86 Question Id : 7532296155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfP+15.375=1.2and 192 - K = 51.2, then find the value of fﬂ

0.3
Options :

1% 5



Question Number : 86 Question Id : 7532296155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe P+ 15375 =1.2and 192+ K = 512, g.dl == I A 1 BifY |

Options :

1.% 5

Question Number : 87 Question Id : 7532296156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

P s il R
Options :
1

1. % 20



2. % 16

Question Number : 87 Question Id : 7532296156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed o & Td HIfog|

el o (P o i e R
Options :
1

1. % 20

Question Number : 88 Question Id : 7532296157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HMHE%MHﬁm—mnggxk=ﬂw0md?x42=?0p

Options :
1. #® 1200

» ® 1208
3 % 1215
4« 1210

Question Number : 88 Question Id : 7532296157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g2 x 2 x k =480 and 2> x 42 = 70 p 8. T (k + p) BT A J1d HIOY|

Options :
1. ® 1200

5 % 1208
3 % 1215

4 @ 1210

Question Number : 89 Question Id : 7532296158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Simplify the following expression.

392+=-28x4+3-35
12+4-1

Options :

Question Number : 89 Question Id : 7532296158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed o & TRd Hife|

392+28x4+3—5
12-4-1

Options :
1

13~

1. % 2

- =

2.¢ =



Question Number : 90 Question Id : 7532296159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

k1=

[(2.35 — 375 +5(4+3) ¢+ (4?)2]

Options :

Question Number : 90 Question Id : 7532296159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FafRad e &l Td Fifod|

k=

[(2.35 —375)° +5(4+3) + (45)2]

Options :

Question Number : 91 Question Id : 7532296160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1

If 113 (ﬁ = 3—_) = 2,x = 1, then find the value of 3 (ﬁ—% %)

VX
Options :
1. ® 9

7« 10
3 & 11

4 % 12



Question Number : 91 Question Id : 7532296160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EFI%ZJ ———Zx:}l%'ﬂTS(d_jLa,)a‘ﬂWWWi

Options :

. % 9
2.¢ 10
3 % 11

4 % 12

Question Number : 92 Question Id : 7532296161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between 82% and 61% of a number is 168. What is 70% of the same number?
Options :

| % 525



Question Number : 92 Question Id : 7532296161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GBI & 82% 2R 61% T 2R 168 & SRR © | I T B 70% T A J1d HIo|
Options :

| ® 525

Question Number : 93 Question Id : 7532296162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
432 marks are required to pass an examination. A student gets 336 marks and is declared failed by 8%. What are the

maximum marks of the examination?
Options :

1 ® 1180

7 & 1200

3 % 1280

4 % 1300

Question Number : 93 Question Id : 7532296162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
U GRI&TT 30l - o TO1T 432 3feh UIt -1 SATGRG & | Uoh BT Bl 336 3fch fHTd & 3R 34 8% Db °
Sfio Tt &R o ST 8 1 udlen 1 quife Jid S|

Options :
1. % 1180

> & 1200
3 % 1280

4 % 1300

Question Number : 94 Question Id : 7532296163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A school has 1955 students. If the number of girls is 920, then the number of boys is what percentage more than the that
of girls?
Options :
1. ®% 11.5%

5 ® 12%

3 @ 12.5%

4 % 15%

Question Number : 94 Question Id : 7532296163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U fAerag H 1955 et g1 afe arsfeal &1 T 020 B, Al TS o] o T, Wil of W 9 fea- ufawa
28 B2

Options :

| % 11.5%

5 % 12%

Question Number : 95 Question Id : 7532296164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is 25% more than C and B is 20% less than C, then B is what percentage of A?
Options :

1. ® 60%

2. & 64%
3 % 62.5%
4 % 65%

Question Number : 95 Question Id : 7532296164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g A, ¢ T 25% HYP 8 AR B. c T 20% HHAE, Al B. A P b UIRIT & aRER 82

Options :
1. ® 60%

2. @ 64%
3 % 62.5%
4 % 65%

Question Number : 96 Question Id : 7532296165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper sold two jackets at 22,300 each. On one, he gained 25%, and on the other, he lost 20%. What is his
overall gain or loss (in ¥)?
Options :
| % Gain, 2115

» # Gain, T105
3 Loss, 115

4 % Loss, %105

Question Number : 96 Question Id : 7532296165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Udh GHMER &l Sde 22,300 UdH $i & T §al | T TR 3 25% BT ATH G R GO R 34 20% $i 8l g5
YD1 Hd AT AT 81 (2 ) J1d I

Options :
| % ¢4, 2115

, % QY. 2105
3 v BIM, 2115
4 % GIF, 2105

Question Number : 97 Question Id : 7532296166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

80% of A’s income is 34,272, By what percentage is A’s income more than B’s income if B earns 35,7007
Options :

1 % 18%

5 % 19%
3 @ 20%
4 % 24%

Question Number : 97 Question Id : 7532296166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A DI AT BT 80%, 234,272 b GG &1 TfG B P1 3119 235,700 8, A1 A B 319, B &1 AT Y b+ U= 218 g»

Options :
1. % 18%

5 % 19%
3 @ 20%
4 % 24%

Question Number : 98 Question Id : 7532296167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In an election, there are three contestants. A, B and C. A got 32% of the votes and B got 65% of the remaining votes. If

C got 3570 votes, then by how many votes did the winner win the election from his close contestant?
Options :

1 % 1800

2 % 1815

3 % 1818

4.« 1830

Question Number : 98 Question Id : 7532296167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U 71 H, JIF WidarT A, B 3R € €1 A DI 32% dlc (el 3R B &I A dict § H 659% I 7 | afé ¢ Dl 3570 TIC
foret, <t fastar = soe SLie! iR 9 fasa alel O g-ra Sirare

Options :

1_p$3 1800

» % 1815
3 % 1818

4.« 1830

Question Number : 99 Question Id : 7532296168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The simple interest on a certain sum is one-fourth of the principal and the number of years is equal to one-fourth of the
number representing the rate per cent per annum. Find the rate per annum.
Options :
1. % 8%

) # 9%
3 o 10%
4 % 12%

Question Number : 99 Question Id : 7532296168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U (IS Y-RIRI IR W IYRU 1S, e & Uoh-aidTg & aR6) g 3R ani &| ST, Ui it & &
Hifdhd UM o Uh-d1UTs b SRIER ¢ | AIiNich SATS &I &R J1d DI |

Options :
1. % 8%

) # 9%
3 o 10%

4 % 12%

Question Number : 100 Question Id : 7532296169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. . 2 3 CHER” - , 5
On simple interest, if an amount becomes 1=~ times the sum after 5 years, then the rate of interest p.a. is:
4

Options :
1 #® 4%

4. % 0%

Question Number : 100 Question Id : 7532296169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i YR S WR & 71 HIg YRR 5 99 A1G W BT 1.2 T+ 1 Al &, 1 a1fiieh o1l bl &) I Hifor|

Options :
1 ® 4%

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Arithmetic Ability2

6
753229320
0

0

No

No

0

20

No

Arithmetic Ability2

753229320
1

Online
Mandatory
20

20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229385
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532296170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes, A and B. can fill a tank in 3 hours and 6 hours, respectively. Both the pipes were opened at 5 a.m. At what
time will the tank be completely filled?

Options :

1. ®% 6:55a.m.

R 4 7 a.m.
3. #% 7:05 a.m.

4 % T:12 a.m.

Question Number : 101 Question Id : 7532296170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l OIS A 3R B U ¢! I HHR: 3 U AR 6§ B R Thd ¢ | &H1 Irsdl &l UIG: 5 §of Wid a1 741, Tp! fhar
ol quicar 4R SeEile

Options :
| % UIG: 6:55 §of

5. v UId: 7S



;% WG 7:05 9ol

4 % UG 7:12

Question Number : 102 Question Id : 7532296171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five men can complete a work in 18 days. In how many days can 9 men do 50% of the work?
Options :

1.& 3

Question Number : 102 Question Id : 7532296171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U o8 U &1 B 18 A T R R o 8 1 9 TN, I 1 b 502 580 Dl feba fad H O 2 U 22
Options :

1.¢ 3



Question Number : 103 Question Id : 7532296172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can do a work in 15 days, 20 days and 25 days, respectively. A and B worked together for 4 days and then C
replaced B. In how many days, altogether, was the work completed?

Options :

. % 6

4. 9

Question Number : 103 Question Id : 7532296172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R ¢ U%h B Bl 8T 15 &, 20 &7 3R 25 A T QI R Uhdl 5| A 3R B A U 1Y a4 f&i ad
S B 3R TR B & ®IF WR ¢ 14 H A1 81 71411 1 6l Sl [aldhR fdva- &1 3 O faar e
Options :

1.% 6

2.23'?



4. 9

Question Number : 104 Question Id : 7532296173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aand B can do a work in 12 and 18 days, respectively. A started the work alone, and on the second day. B joined him.

They worked together for 5 days, and then A left the work. B worked alone for 1 day, and then with the help of C.

completed the work in the next 2 days. In how many days can A, B and C, working together, do the same work?
Options :
1. ® 5

2.¢ 0
3_23'?

4. % 8

Question Number : 104 Question Id : 7532296173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ¥R B U &1 &I HHT: 12 AR 18 ST H B Fhd 81 A el B Y& BN 3 HR G G718 IHS AU S
ST 8 1 38 5 fad % U T firaa & faa, ofR R A 3 & 81 fean B 7 1 & abha & fopa ik R
C &I TERIdT Y, 3T 2 &1 # &1 Q1 fadn | A, B 3R ¢ U I Tleas 381 B &l b e Q1 Tavd o2

Options :
1. % 5

2.# 0



Question Number : 105 Question Id : 7532296174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average expenditure of a family for the first § months and the last 4 months of a vear are 52,000 and 60.000.

respectively. The family saved 240,000 during the year. Find the average monthly income (in %) of the family in the
vear.

Options :

| % 56,000

, % 56,800

N

3 % 57.400

4 v 58,000

Question Number : 105 Question Id : 7532296174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy & Ugd 8 HelH 3R 3iftdH 4 ASH & GRM Ush URGR & 3119d Wd A 252,000 3R 260,000 & | IRGR A 39
g & SR 240,000 P! §9d 11 39 I8 H IRGR ST 209d A1 2/ (z #) J1d SIfo|

Options :
| % 56,000




5 % 56,800

n

3 % 57400

4 v 58,000

Question Number : 106 Question Id : 7532296175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of three given numbers, the first number is thrice the second number and 2 more than four times the third number. If

the average of the three numbers is 22, then find the difference between the first number and the third number.
Options :
1. ® 30

2.« 32

3 & 33

Question Number : 106 Question Id : 7532296175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TS <9 Temel § U, Ueel T GOl ST & o 1 & aR1ER € 2R I S S IR T 9 2 2fiF g1 3fg
AT STl T 27T 22 8. Ol Ugal T 3R d T & 3iak J1d Sifog|

Options :
1. % 30



2. v 32

Question Number : 107 Question Id : 7532296176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Twelve persons went on an outstation tour in four groups. The first group consisted of 3 persons. the second group of 4

persons. the third group of 4 persons. and the fourth group of a single person. The persons in the first three groups
carried an average luggage of 8 kg, 7.5 kg and 6.25 kg, respectively, and the single person in the fourth group carried
3.5 kg more than the average luggage carried by all of them. Find the average weight carried by the second group and
the single person.
Options :
| » 825kg

L % S.15kg

Question Number : 107 Question Id : 7532296176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IRg Afdd IR GHEI H U IE1 IR U] Ugd 998 H 3 Afdkd. TR T4 H 4 A, 6 THE H 4 oAl AR 91
i H U fdd QM 41| Ugd diF Yl & oAfaadl & Urg Ad- HHR: § kg, 7.5 kg AR 6.25 kg B GHF T
HR AIY HE & 3fcbe Ald & Ure 39 THI GRI W ST T G A Y 3.5 kg AU MM 1| S8 GHE AR
bl Al GRI A ST 7Y YA &1 G GO J1d BIToTg |

Options :

| = 825kg
, v 8:2kg
3 % S.15kg
4 % 8.1kg

Question Number : 108 Question Id : 7532296177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper marks his goods 35% higher than their cost price. If he allows a 20% discount, then find his profit
percentage.

Options :

1. % 7.5%

) « 8%
3. % 12%

4 % 15%



Question Number : 108 Question Id : 7532296177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GHMGR U A1 UR, 50 el Y 35% i Jo 3ifdhd &l ¢ | Tfe 98 20% P BE odl 8. al 3T U=
A 1A DI

Options :

1. ® 7.5%
7 « &%

3 #% 12%
4. % 15%

Question Number : 109 Question Id : 7532296178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper sells his goods at a 10% discount and still makes a profit of 35%. If he sells the goods with only 20%

profit, then find the discount percentage allowed.
Options :
| % 18%

"r"'nq

2. % 22%

3 @ 20%

Question Number : 109 Question Id : 7532296178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Uch GHIMGIR U HIT D 10% BE W STl g 3R R Ht 350 P AH HHIAT g | TG I8 HI bl baal 20% AH W
Sl 8. Al STHY BC B WiaRId J1d DI |

Options :
1 #® 18%

"i"'iqf":l

3 & 20%

"‘l"'l.S{!_z":l

Question Number : 110 Question Id : 7532296179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the area of a rhombus is 120 cm? and one of its diagonals is 24 cm long, then what is the length (in cm) of each of its
sides?

Options :

| % 125

2.¢ 13

3 % 13.6

4 % 14

Question Number : 110 Question Id : 7532296179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hﬁ@ﬁﬂﬂ@gﬁaﬂ &I 120 cmzéﬁmﬁwaﬁmﬂ cm%.?‘ﬁwwwaﬁm{cmﬁ]
RIREAIEIY

Options :
1. % 12.5

2.¢ 13
3. % 13.6

4. % 14

Question Number : 111 Question Id : 7532296180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the length of a rectangle is increased by 20% and the width is decreased by 20%, then what will be the increase or

decrease percentage in its area?
Options :

| % Increase, 4.25%

> % Increase, 4%

3 « Decrease, 4%

4 % Decrease, 5%

Question Number : 111 Question Id : 7532296180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i U 3M1ad Bl AdTg H 20% B Jig AR Trels H 20% ®I HHI &I Sl &, d 3UD &A%hd H g5 gig a1 HHl &I
Fid=Id 1d DI

Options :
| 3. 4.25%

3w DI 4%

4« PHIL 5%

Question Number : 112 Question Id : 7532296181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A wire in the form of a square of side 11 cm is moulded to form a circle. Find the ratio of the area of the square to that
of the circle.

(USE—TE=§)
7
Options :

1% 6:7

o 11z ES

3 % 11:16



4@ 11:14

Question Number : 112 Question Id : 7532296181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
11 cm Hofl 9T Udh &1 o U H HiNlg Uh dR Dl HIgHR Ueb gl &-1A1 ST 8 1 39 o1 2R FiHd a7 & athal &l
T J1d i

(Usen=£)
7

Options :

1. % 6:7

o % 11:15

3 % 11:16

4.« 11:14

Question Number : 113 Question Id : 7532296182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of the radii of the bases of two cylinders is the same as the ratio of the heights of the two cylinders which is

3:5. Find the ratio of their total surface areas.
Options :
1.8 3:35

» ® 6:35
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Question Number : 113 Question Id : 7532296182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l STl B SYR-EISare SR 3! Sargdl, GIFl &1 S Ud 3 : 5 81 3-id Jul Y¥TY &bl Bl Surd J1d
DIt

Options :
1. #% F339

) ® 6:5
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Question Number : 114 Question Id : 7532296183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each side of a cuboid is increased by 12%, then the increase in its total surface area is:
Options :

| % 24%

3 @ 25.44%



4 % 25.8%

Question Number : 114 Question Id : 7532296183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE T T B U Yol H 129 BI gl D1 offell 3, 9 39 QU1 gETT et o faval gfa sifl

Options :
1. % 24%

5 % 25%

3 @ 25.44%

Question Number : 115 Question Id : 7532296184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From a solid cylinder, whose height and radius are 12 cm and 3.5 cm, respectively. a cylindrical cavity of half the height

and half the radius of the cylinder is carved out. What is the total surface area of the remaining solid (in cm?)?

(Use = 2?—2)

Options :
1 % 280

5 % 356

3 % 405



4 & 407

Question Number : 115 Question Id : 7532296184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 31 90 U, fore! $HaTg 3R B0 HA: 12 cm 3R 3.5 cm ©, 96 D1 212 HaTs 3R el 5= & 3R
@1 Ueh SUIHR 18T DI bl 5 ¢ | TN 319 &I YUl Y¥TY &% (cm? H) 10 Hiod|

(Use T = 2?—2)

Options :
1. % 280

Question Number : 116 Question Id : 7532296185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The number of students and the marks scored by them out of 50 are shown in the following table.

Marks 0-10 10-20 20-30 30-40 40-50
No. of 0 6 12 18 4
students

How many students scored 20 or more marks?
Options :
1 % 40

Question Number : 116 Question Id : 7532296185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 TTS, dIfCishT H S BT 3R 39 §RI 50 H I U1K 3foh( &bl SR T B |

*3'@ 0-10 10-20 20-30 30-40 40-30
SEf DI 0 6 12 18 4
T
fhd= BE = 20 1 3TN 2H¥® i Urd fow

Options :



Question Number : 117 Question Id : 7532296186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of students from four institutes. A, B. C and D, who like different sports is shown in the following table.

Institute Badminton| Hockey | Cricket | Volleyball
A 35 60 80 35
B 23 56 T2 31
S 46 62 85 42
D 44 62 83 42

What is the average number of students liking different sports in institute B?
Options :
1w 42
2. % 44

3 % 45

4. 46



Question Number : 117 Question Id : 7532296186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 TR - A, B, € 3R D & fafie Qo &1 Ui $37 a1el S & G difere! & <2 T g

T | deffied | 8l | fhbe | dldiard
A 35 60 80 35
B 25 56 72 31
C 46 62 85 42
D 44 62 83 42

Yo B H ot Wdl &1 e &34 a1e SE! 31 2019d 981 fedl 82

Options :
1w 42

) w44
3 % 45
4.« 46

Question Number : 118 Question Id : 7532296187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following table shows the income (in %), along with their sources, received by five employees, A, B, C, D and E, of

a company in the last month of a year.

A B C D E
Salary 32,000 28,000 29,500 35,000 31.000

Bonus 3,000 6,300 7,200 8,500 8,500
Arrears 6,000 5,520 5,880 7.450 6,600
Overtime 5,050 4,000 4,590 7,000 7,100

What is the average overtime allowance (in %) given to employees A, B and D?
Options :
| % 5,200

Question Number : 118 Question Id : 7532296187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 7532296188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A survey was conducted on 100 students each for 3 years regarding their preference of subjects. The following bar
graph shows the number of students interested in Engineering, Science, Commerce and other subjects.

Engineering  Science Commerce Others

In 2016 and 2017, the total number of students liking Science was what percentage less than the total number of those
liking Engineering?
Options :

| % 9%
5« 10%
3 % 10.6%
4 % 10.9%

Question Number : 119 Question Id : 7532296188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ®% 9%

5 10%

3 % 10.6%

4 % 10.9%

Question Number : 120 Question Id : 7532296189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the expenditure and income (in lakh ¥) of a company during 4 vears.

14,000 - E E‘ %
, g A 2 =
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= = 1
10,000 - ET o
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8,000 97
; 4: CE xp enditure
6,000 - #lncome
4,000 -
2,000 -
0 . . L
2015-16 2017-18 2018-19

The total expenditure in 2015-16 and 2017-18 was what percentage less than the total income in 2016-17 and 2018-19

(correct to one decimal place)?
Options :
1 % 24.5%

) % 24.6%

3. 24.9%

4 % 25.8%

Question Number : 120 Question Id : 7532296189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



[Faifdd SR A® 4 991 & GRH U HUH! gRI fhU 7T 47 3R 31 (ARG  H) &l G 5 |

14,000 - s 7,
. S z
7 o ur o
12,000 g 4 -
- -2, = ri
10000 { 7 = o
A Frd
8,000 - %% 99 -
%% g5 o Y
6,000 - %5 5%
7 W " 3T
] g
4,000 - W _ #
iy g
2000 4 :
i
0

201516 2016-17 2017-18 2018-19

2015-16 AR 2017-18 H G Y, 2016-17 AR 2018-19 H 1 A Y fde UIARIT HH YT (U GRHOT I b
E[Ufﬁﬁﬂ}‘?

Options :
1 ® 24.5%

5 ® 24.6%
3 @ 24.9%

4 % 25.8%

General English1

Group Number : 7



Group Id : 753229321

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 753229321

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229386

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532296190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Subodh has a very personality and is loved by all.
Options :

1. # suitable

2. ¥ pleasing

3. % thankful



4. % careful

Question Number : 121 Question Id : 7532296190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Subodh has a very personality and is loved by all.
Options :

1. #* suitable

2. ¥ pleasing

3. * thankful

4. % careful

Question Number : 122 Question Id : 7532296191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

This magnificent mansion is
Options :

1. ® us

2. % ours

3. % my

4. % her

Question Number : 122 Question Id : 7532296191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

This magnificent mansion is
Options :



1. # us

2. ¥ ours
3. % my
4. % her

Question Number : 123 Question Id : 7532296192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

One usually that most rumours are false.
Options :

1. # find

2. % finds

3. * has found

4. % found

Question Number : 123 Question Id : 7532296192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

One usually that most rumours are false.
Options :

1. # find

2. ¥ finds

3. % has found

4. % found

Question Number : 124 Question Id : 7532296193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.



, the man-apes developed skills which no other animal possessed.
Options :
1. ¥ Eventually
2. # Occasionally
3. # Generally
4. # Frantically

Question Number : 124 Question Id : 7532296193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

, the man-apes developed skills which no other animal possessed.
Options :
1. ¥ Eventually
2. # QOccasionally
3. % Generally
4. # Frantically

Question Number : 125 Question Id : 7532296194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Why here at this late hour? Go home.
Options :

1. # do you stand

2. % are you standing

3. % have you stood

4. % will you stand

Question Number : 125 Question Id : 7532296194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Why here at this late hour? Go home.
Options :

1. # do you stand

2. % are you standing

3. # have you stood

4. # will you stand

Question Number : 126 Question Id : 7532296195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

We that India would win the match so we were disappointed at the loss.
Options :

1. # have hoped

2. % had hoped

3. # have been hoping

4. ® are hoping

Question Number : 126 Question Id : 7532296195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

We that India would win the match so we were disappointed at the loss.
Options :

1. # have hoped

2. ¥ had hoped

3. % have been hoping



4. # are hoping

Question Number : 127 Question Id : 7532296196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

The old stock during the sale at the end of the year.
Options :

1. ¥ will be cleared

2. % has been clearing

3. # will be clearing

4. % is clearing

Question Number : 127 Question Id : 7532296196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

The old stock during the sale at the end of the year.
Options :

1. ¥ will be cleared

2. % has been clearing

3. % will be clearing

4. # is clearing

Question Number : 128 Question Id : 7532296197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

octopus is sea animal.
Options :



1.¥ An,a
2. % A, an
3.% A a

4. % An, an

Question Number : 128 Question Id : 7532296197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

octopus is sea animal.
Options :
1.¥ An,a
2. % A, an
3.% A a
4. % An, an

Question Number : 129 Question Id : 7532296198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active voice of the given sentence.

My car was stolen from the parking lot.

Options :

1. # Someone has stolen my car from the parking lot.
2. ¥ Someone stole my car from the parking lot.

3. # Someone was stealing my car from the parking lot.

4. ¥ Someone steals my car from the parking lot.

Question Number : 129 Question Id : 7532296198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active voice of the given sentence.



My car was stolen from the parking lot.

Options :

1. ® Someone has stolen my car from the parking lot.
2. ¥ Someone stole my car from the parking lot.

3. # Someone was stealing my car from the parking lot.

4. ® Someone steals my car from the parking lot.

Question Number : 130 Question Id : 7532296199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

She was by her grandmother in a small village.
Options :

1. # brought about

2. # brought out

3. % brought in

4. ¥ brought up

Question Number : 130 Question Id : 7532296199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

She was by her grandmother in a small village.
Options :

1. # brought about

2. % brought out

3. # brought in

4. ¥ brought up

Question Number : 131 Question Id : 7532296200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

He is quite sick but the doctors are hopeful that he will
Options :

1. % pull down

2. % pull out

3. ¢ pull through

4. % pull away

Question Number : 131 Question Id : 7532296200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate option.

He is quite sick but the doctors are hopeful that he will
Options :

1. # pull down

2. % pull out

3. % pull through

4. # pull away

Question Number : 132 Question Id : 7532296201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. ¥ What a breathtaking scene it was!
2. # What a breathtaking scene it was?
3. # What, a breathtaking scene it was!

4. ¥ What a breathtaking scene, it was.



Question Number : 132 Question Id : 7532296201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly punctuated sentence.
Options :

1. ¥ What a breathtaking scene it was!
2. % What a breathtaking scene it was?
3. ¥ What, a breathtaking scene it was!
4. ® What a breathtaking scene, it was.

Question Number : 133 Question Id : 7532296202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. #® A notice was put up outside the boys hostel?
2. ¥ A notice was put up outside the boys’ hostel.
3. #® A notice was put up outside the boy’s hostel?
4. ® A notice was put up outside the boys hostel!

Question Number : 133 Question Id : 7532296202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. # A notice was put up outside the boys hostel?
2. ¥ A notice was put up outside the boys’ hostel.
3. % A notice was put up outside the boy’s hostel?
4. #% A notice was put up outside the boys hostel!

Question Number : 134 Question Id : 7532296203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the correct direct form of the given sentence.

Mother asked me if [ was afraid I would lose the game.

Options :

1. #® Mother said to me, “Were you afraid you will lose the game?”
2. ¥ Mother said to me, “Are you afraid you will lose the game?”
3. # Mother said to me, “You are afraid you will lose the game?”

4. ® Mother said to me, “I was afraid you will lose the game.”

Question Number : 134 Question Id : 7532296203 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct direct form of the given sentence.

Mother asked me if [ was afraid I would lose the game.

Options :

1. ¥ Mother said to me, “Were you afraid you will lose the game?”
2. ¥ Mother said to me, “Are you afraid you will lose the game?”
3. # Mother said to me, “You are afraid you will lose the game?”

4. ®% Mother said to me, “I was afraid you will lose the game.”

Question Number : 135 Question Id : 7532296204 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct indirect form of the given sentence.

Mukta said, “Don’t visit the bank tomorrow as it is a holiday.”
Options :

: MCQ Option Shuffling

: MCQ Option Shuffling

1. # Mukta told me to not to visit the bank the next day as it was a holiday.

2. % Mukta told me not to visit the bank tomorrow as it was a holiday.
3. # Mukta told to me don’t visit the bank the next day as it is a holiday.

4. ¥ Mukta told me not to visit the bank the following day as it was a holiday.

: Yes Is Question Mandatory : No Option

: Yes Is Question Mandatory : No Option



Question Number : 135 Question Id : 7532296204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct indirect form of the given sentence.

Mukta said, “Don’t visit the bank tomorrow as it is a holiday.”

Options :

1. # Mukta told me to not to visit the bank the next day as it was a holiday.

2. % Mukta told me not to visit the bank tomorrow as it was a holiday.

3. % Mukta told to me don’t visit the bank the next day as it is a holiday.

4. ¥ Mukta told me not to visit the bank the following day as it was a holiday.

Question Number : 136 Question Id : 7532296205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a positive connotation.

Alisha is very . She does not give up easily.
Options :

1. * rigid

2. # stubborn

3. ¥ determined

4. # obstinate

Question Number : 136 Question Id : 7532296205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a positive connotation.

Alisha is very . She does not give up easily.
Options :
1. % rigid



2. * stubborn
3. % determined

4. % obstinate

Question Number : 137 Question Id : 7532296206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a negative connotation.

Lydia’s taste in music is quite
Options :

1. # unique

2. % weird

3. % exceptional

4. % exclusive

Question Number : 137 Question Id : 7532296206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the word that has a negative connotation.

Lydia’s taste in music is quite
Options :

1. ®* unique

2. % weird

3. # exceptional

4, % exclusive

Question Number : 138 Question Id : 7532296207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.



Jimmy took a before going to bed.
Options :

1. ¥ quick shower

2. # fast shower

3. % rapid shower

4. % gpeedy shower

Question Number : 138 Question Id : 7532296207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

Jimmy took a before going to bed.
Options :

1. ¥ quick shower

2. # fast shower

3. % rapid shower

4. # speedy shower

Question Number : 139 Question Id : 7532296208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

Several farmers as they were unable to pay their debts.
Options :

1. # accomplished suicide

2. % undertook suicide

3. ¥ committed suicide

4. % dedicated suicide

Question Number : 139 Question Id : 7532296208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

Several farmers as they were unable to pay their debts.
Options :

1. # accomplished suicide

2. # undertook suicide

3. % committed suicide

4. # dedicated suicide

Question Number : 140 Question Id : 7532296209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

Not many people can
Options :

1. # save a secret

2. ¥ keep a secret

3. % store a secret

4. # place a secret

Question Number : 140 Question Id : 7532296209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate collocation.

Not many people can
Options :

1. # save a secret

2. ¥ keep a secret

3. % store a secret

4. % place a secret



General English2

Group Number : 8

Group Id : 753229322

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English2

Section Id : 753229322

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229387

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532296210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Deficit



Options :
1. % Plenty
2. # Gain
3. % Loss
4. % Loan

Question Number : 141 Question Id : 7532296210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Deficit
Options :
1. # Plenty
2. # Gain
3. % Loss
4. % Loan

Question Number : 142 Question Id : 7532296211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Melancholy
Options :

1. # Assurance
2. % Advantage
3. ¥ Excitement

4. ¥ Despondency

Question Number : 142 Question Id : 7532296211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate synonym of the given word.

Melancholy
Options :

1. # Assurance
2. % Advantage
3. % Excitement

4. ¥ Despondency

Question Number : 143 Question Id : 7532296212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Triumph
Options :
1. * Victory
2. % Success
3. % Failure
4. % Poverty

Question Number : 143 Question Id : 7532296212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Triumph
Options :
1. # Victory
2. ® Success
3. % Failure
4. ® Poverty



Question Number : 144 Question Id : 7532296213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Implore
Options :

1. # Plead
2. ¥ Demand
3. % Request
4. # Appeal

Question Number : 144 Question Id : 7532296213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Implore
Options :

1. % Plead
2. % Demand
3. % Request
4. # Appeal

Question Number : 145 Question Id : 7532296214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

to strain every nerve
Options :

1. ¥ to try very hard
2. % to accept defeat



3. % to be very tired
4. # to spend a lot

Question Number : 145 Question Id : 7532296214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

to strain every nerve
Options :

1. ¥ to try very hard
2. % to accept defeat
3. % to be very tired
4. % to spend a lot

Question Number : 146 Question Id : 7532296215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

haste makes waste

Options :

1. #® quick work yields better results
2. ® active people do not waste time
3. ¥ rushing things leads to mistakes

4. * tardiness wastes resources

Question Number : 146 Question Id : 7532296215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

haste makes waste



Options :

1. % quick work yields better results
2. # active people do not waste time
3. % rushing things leads to mistakes

4. * tardiness wastes resources

Question Number : 147 Question Id : 7532296216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

turn a deaf ear

Options :

1. # be angry with someone
2. # misunderstand someone
3. % listen carefully

4. ¥ pay no heed

Question Number : 147 Question Id : 7532296216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

turn a deaf ear

Options :

1. * be angry with someone
2. #* misunderstand someone
3. # listen carefully

4. ¥ pay no heed

Question Number : 148 Question Id : 7532296217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the misspelt word.
Options :

1. ¥ arrogant

2. % anguish

3. % awkword

4. % absurd

Question Number : 148 Question Id : 7532296217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the misspelt word.

Options :

1. #* arrogant

2. % anguish

3. % awkword

4. % absurd

Question Number : 149 Question Id : 7532296218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the misspelt word.

Options :

1. # adulterate

2. ¥ embarassed

3. # bouquet

4. # irreparable

Question Number : 149 Question Id : 7532296218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the misspelt word.
Options :



1. # adulterate
2. % embarassed
3. # bouquet

4. # irreparable

Question Number : 150 Question Id : 7532296219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # negociate

2. # negotiat

3. ¥ negotiate

4. ¥ nagotiate

Question Number : 150 Question Id : 7532296219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # negociate

2. # negotiat

3. ¥ negotiate

4. ¥ nagotiate

Question Number : 151 Question Id : 7532296220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in the correct order to make a meaningful sentence.

Mount Fuji a religious climbing pilgrimage was considered ancient in times
Options :



1. # In ancient times Mount Fuji was considered a religious pilgrimage climbing.
2. % Mount Fuji in ancient times was considered a pilgrimage religious climbing.
3. ¥ Climbing Mount Fuji was considered a religious pilgrimage in ancient times.

4. ® A religious pilgrimage was considered ancient Mount Fuji climbing in times.

Question Number : 151 Question Id : 7532296220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in the correct order to make a meaningful sentence.

Mount Fuji a religious climbing pilgrimage was considered ancient in times
Options :

1. # In ancient times Mount Fuji was considered a religious pilgrimage climbing.
2. # Mount Fuji in ancient times was considered a pilgrimage religious climbing.
3. % Climbing Mount Fuji was considered a religious pilgrimage in ancient times.

4. % A religious pilgrimage was considered ancient Mount Fuji climbing in times.

Question Number : 152 Question Id : 7532296221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the statements in the correct order to make a meaningful paragraph.

A. He has been using domestic and wild animals for his selfish ends .

B. Thus, animal lovers came together to form ‘Society for Prevention of Cruelty to Animals’.
C. He considers animals as inferior beings fit for exploitation.

D. Man suffers from a distorted complex.

Options :

1. ¥ CDAB
2. % BDAC
3. % DABC
4. ¥ DCAB

Question Number : 152 Question Id : 7532296221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Arrange the statements in the correct order to make a meaningful paragraph.

A. He has been using domestic and wild animals for his selfish ends .

B. Thus, animal lovers came together to form ‘Society for Prevention of Cruelty to Animals’.
C. He considers animals as inferior beings fit for exploitation.

D. Man suffers from a distorted complex.

Options :

1. * CDAB
2. % BDAC
3. % DABC
4. ¥ DCAB

Question Number : 153 Question Id : 7532296222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

The most dramatic of global warming is the disappearance of glaciers around the world.
Options :

1. % secret

2. % evidence

3. # token

4. % event

Question Number : 153 Question Id : 7532296222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

The most dramatic of global warming is the disappearance of glaciers around the world.
Options :

1. # secret



2. % evidence
3. # token

4. % event

Question Number : 154 Question Id : 7532296223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Jaipur is for its blue pottery.
Options :

1. # notorious

2. ¥ renowned

3. % obscure

4. % shrouded

Question Number : 154 Question Id : 7532296223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Jaipur is for its blue pottery.
Options :

1. * notorious

2. ¥ renowned

3. ® obscure

4. % shrouded

Question Number : 155 Question Id : 7532296224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.



Mrs Trehen is extremely of her tendency to put on weight.
Options :

1. % consistent

2. % conscious

3. % conscientious

4. % consumed

Question Number : 155 Question Id : 7532296224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word.

Mrs Trehen is extremely of her tendency to put on weight.
Options :

1. # consistent

2. ¥ conscious

3. % conscientious

4. % consumed

Sub-Section Number : 2
Sub-Section Id : 753229388
Question Shuffling Allowed : Yes

Question Id : 7532296225 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage and answer the questions that follow.

You would have seen an increasing amount of “junk mail” showing up in your e-mail box. The so-called harmless activities of a small number of
people are increasingly becoming a serious problem for the Internet.

Spam is the flooding of the Internet with many copies of the same message, in an attempt to force the message on people who would not
otherwise choose to receive it.

Spam is basically electronic junk mail advertising for some product. In addition to wasting people’s time with unwanted e-mail, spam also eats up
a lot of network bandwidth. Spamming works on our own greed to receive freebies. You are instructed by a total stranger (or a well-meaning but
not very bright friend) to forward a message you know nothing about, except for the fact that maybe a friend passed it along to you and about 90



of their other very close friends.

Most spam is commercial advertising, often for dubious products, get-rich-quick schemes, or quasi-legal services. It costs the sender very little to
send—most of the costs are paid for by the recipient or the carriers rather than by the sender.

There are two main types of spam, and they have different effects on internet users. Cancellable Usenet spam is a single message sent to 20 or
more Usenet newsgroups. Usenet spam is aimed at “lurkers”, people who read newsgroups but rarely or never post and give their address away.
There is not much really that can be done to protect yourself except that you can ensure your relative safety by creating internet e-mail accounts
like Hotmail or Yahoo which can be easily and frequently changed. Further, these accounts also generally offer the option of blocking senders
from whom you get spam and you can also opt to block e-mail which has been copied to more than 20 people.

One can also keep oneself informed about spammers through the Blacklist of Internet Advertisers. You can also visit www.spam.abuse.net.
Another organisation devoted to countering the destructive effects of spam is MAPS or the Mail Abuse Prevention System. The MAPS website at
http://mail-abuse.org will yield more useful information on how to counter and control spam.

Sub questions

Question Number : 156 Question Id : 7532296226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The organization that destructive effects of spam is
Options :

1. % MASP

2. % MPAS

3. ¥ MAPS

4. % MSAP

Question Number : 157 Question Id : 7532296227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is NOT an effect of junk mail?
Options :

1. #* It consumes network bandwidth

2. # It advertises fake products

3. % It helps to block spam senders

4. # It sends multiple copies of same message

Question Number : 158 Question Id : 7532296228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who bears most of the cost of the spams?
Options :

1. # advertisers

2. # senders

3. % spammers

4. % carriers

Question Number : 159 Question Id : 7532296229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these cannot give protection from spam?
Options :

1. # frequently changing e mail account

2. # blocking mails copied to many people

3. ¥ using cancellable Usenet spam

4. % being aware of blacklisted advertisers

Question Number : 160 Question Id : 7532296230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does ‘junk’ mean in the context of the passage ?
Options :

1. #* poor quality

2. # second-hand

3. ¥ useless

4. % recycled

Question Id : 7532296225 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the passage and answer the questions that follow.



You would have seen an increasing amount of “junk mail” showing up in your e-mail box. The so-called harmless activities of a small number of
people are increasingly becoming a serious problem for the Internet.

Spam is the flooding of the Internet with many copies of the same message, in an attempt to force the message on people who would not
otherwise choose to receive it.

Spam is basically electronic junk mail advertising for some product. In addition to wasting people’s time with unwanted e-mail, spam also eats up
a lot of network bandwidth. Spamming works on our own greed to receive freebies. You are instructed by a total stranger (or a well-meaning but
not very bright friend) to forward a message you know nothing about, except for the fact that maybe a friend passed it along to you and about 90
of their other very close friends.

Most spam is commercial advertising, often for dubious products, get-rich-quick schemes, or quasi-legal services. It costs the sender very little to
send—most of the costs are paid for by the recipient or the carriers rather than by the sender.

There are two main types of spam, and they have different effects on internet users. Cancellable Usenet spam is a single message sent to 20 or
more Usenet newsgroups. Usenet spam is aimed at “lurkers”, people who read newsgroups but rarely or never post and give their address away.
There is not much really that can be done to protect yourself except that you can ensure your relative safety by creating internet e-mail accounts
like Hotmail or Yahoo which can be easily and frequently changed. Further, these accounts also generally offer the option of blocking senders
from whom you get spam and you can also opt to block e-mail which has been copied to more than 20 people.

One can also keep oneself informed about spammers through the Blacklist of Internet Advertisers. You can also visit www.spam.abuse.net.
Another organisation devoted to countering the destructive effects of spam is MAPS or the Mail Abuse Prevention System. The MAPS website at
http://mail-abuse.org will yield more useful information on how to counter and control spam.

Sub questions

Question Number : 156 Question Id : 7532296226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The organization that destructive effects of spam is
Options :

1. ¥ MASP

2. % MPAS

3. ¥ MAPS

4. % MSAP

Question Number : 157 Question Id : 7532296227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is NOT an effect of junk mail?
Options :

1. # It consumes network bandwidth



2. # It advertises fake products
3. ¥ It helps to block spam senders

4. # It sends multiple copies of same message

Question Number : 158 Question Id : 7532296228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who bears most of the cost of the spams?
Options :

1. #® advertisers

2. #® senders

3. # spammers

4. ¥ carriers

Question Number : 159 Question Id : 7532296229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these cannot give protection from spam?
Options :

1. # frequently changing e mail account

2. # blocking mails copied to many people

3. ¥ using cancellable Usenet spam

4. ® being aware of blacklisted advertisers

Question Number : 160 Question Id : 7532296230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does ‘junk’ mean in the context of the passage ?
Options :

1. # poor quality

2. #® second-hand

3. ¥ useless

4. ® recycled
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Question Number : 161 Question Id : 7532296231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f5 5T YR &1 T AgEIYS 3 82
Options :




1. % JUN®

2. ¢ faure®

3. # fRycele
4. % gRUMHCRIS

Question Number : 161 Question Id : 7532296231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fo fore TR &1 TYaIy® 3d 52
Options :

1. % HUH

2. ¢ faursis

3. % fRIyCRIS

4. % ORUTHCR(®

Question Number : 162 Question Id : 7532296232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIY3H B AT I I &l 5 1 IR H T I DI AT HRP g7
Options :

1. ¥ D0

2. % YD

3. % gucH

4. #* HUlgH

Question Number : 162 Question Id : 7532296232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y3 BT A A I &l 5> I T Ugad W DI 9 RSP 62
Options :

1. & T




2. % 3ffYHur
3. % gUgH
4, % 3O

Question Number : 163 Question Id : 7532296233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRINT & AR franfageo &1 9 T8t 82
Options :

1. # YR

2. % YYD

3. ¥ AJdx

4.« R

Question Number : 163 Question Id : 7532296233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN & IR fohanfavivur &1 9e 81 82
Options :

1. # YR

2. % HONID

3. % 3SG

4.« JY

Question Number : 164 Question Id : 7532296234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR {6 TSR &1 WA ARV 52
Options :

1. ® HHAHD

2. % JgIdTed




3. ¢ JUEHAED
4. % JAP SIUd

Question Number : 164 Question Id : 7532296234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR fHT YHR o1 TBIarES AL g2
Options :

1. % HHAED

2. % IIgfidred

3. ¢ JUEHAED

4. % Y qIYD

Question Number : 165 Question Id : 7532296235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT o TSR B T 72
Options :

1. ¥ HfeRIdTdD

2. % Glfddrdd

3. % Y[ddHde

4. % JHgdlddh

Question Number : 165 Question Id : 7532296235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EEYT {5 YR B T 52
Options :

1. ¢ Hfard

2. % Wflfddred

3. % Y[ddldh



4. % JHGIED

Question Number : 166 Question Id : 7532296236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafRed # § «sRIgey Ta-TH &1 33180 5-
Options :

% H

2. % gH

3. % dH

4, ¥ dg

Question Number : 166 Question Id : 7532296236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o ¥ < 3FIgey [ H1 3aIexXU 6-
Options :

1% ¥

2. % gH

3. % dH

4. dg

Question Number : 167 Question Id : 7532296237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘U HAT T3 UBHR 1 ol BT IGIeT 57
Options :

|. % Tgod fobar

2. ¢ AHEIYD fohd

3. % gdapIere fohdl

4. % fgptic foba




Question Number : 167 Question Id : 7532296237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“UH ST (658 THR &1 feh a1 BT IaT6R0 57
Options :

1. % Ggad febar

2. ¢ THEIY foba

3. % gdapIere fohdl

4. % fgpHe fopan

Question Number : 168 Question Id : 7532296238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T el Afd-fawe 8-
Options :

1. % I+ AT

2. % 3g + U

3. ¢ 3+ AU

4. % 3o + oA

Question Number : 168 Question Id : 7532296238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IeaT BT el WY-fawE &-
Options :

1. % I+ AU

2. % 3g + YA

3. ¢ 3q + dUA

4. % 3 + oA



Question Number : 169 Question Id : 7532296239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR § B 9 9 52

Options :

1. ¢ foge g

2. % ol IfY

3. % i WR R

4, % TOT TR Y

Question Number : 169 Question Id : 7532296239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR | DI I 9 g2

Options :

1. ¢ fawf iy

2. % o iy

3. % i WR Y

4. % T[0T TR TIY

Question Number : 170 Question Id : 7532296240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofefed & 3 g oo &1 9 72 8-
Options :

1. % RN

2. #® HRR

3. ¥ AfAER

4. % qHiUD

Question Number : 170 Question Id : 7532296240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Fraffad & § gg 99 &1 9 TeT 8-
Options :

1. % SRR

2. % JHIBR

3. ¢ ATBR

4. % JpfUD

Question Number : 171 Question Id : 7532296241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MG T B I THH 82

Options :

1. % 3rogdt HIg

2. ¥ ddey

3. % gg

4. % g1

Question Number : 171 Question Id : 7532296241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MHEHT & DI 1 TN 57

Options :

1. % 3ot HIa

2. TGN

3. % gg

4. % fg7]

Question Number : 172 Question Id : 7532296242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ETE JaH 9 o 99 71 Jad iex JH- Hon Ufdd T DIF 91 DR 82
Options :

1. % gHDH

2. % T

3. % dIcurg

4.« JAU™

Question Number : 172 Question Id : 7532296242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe GaH Id o7 99 01| Jad e GH- Herr Ufad & DI 11 AHR 72
Options :

1. # JHD

2. % T

3. % Iy

4.« JAU™

Question Number : 173 Question Id : 7532296243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fory faRIeaT & STYR WR &l axgait H g ufcure foar SiraT g, 39 o1 Fed 62
Options :

1. * HEYddd

2. % g yd

3. ¥ YR 4H

4. % faxiy g

Question Number : 173 Question Id : 7532296243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forey foRIoaT & STYR WR &l a3t o A1 ufcrare o Sirdl &, 39 1 $hsd 62
Options :

1. % GRS

2. % TRy ¥

3.  TIYRT 4

4, % faQy o

Question Number : 174 Question Id : 7532296244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3y forgepT Tatgarh g2

Options :

1. ¢ DI

2. % 3@

3. % gdd

4, % X

Question Number : 174 Question Id : 7532296244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31y foreranT TafaaTe 82

Options :

1. ¥ JH[DIX

2. % 3@

3. % gdd

4. % X

Question Number : 175 Question Id : 7532296245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HBU BT [ddH gHTI-



Options :
1. % 39

Question Number : 175 Question Id : 7532296245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HBUP 1 faaH gIT-

Options :

1. % 33U

2. % W

3. % D¢

4. ¢ fogR

Question Number : 176 Question Id : 7532296246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R’ BT 3 751 BIll-

Options :

1. % dd

2. ¥ QY

3. % fyspy

4, % Y

Question Number : 176 Question Id : 7532296246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R’ BT 3 751 BIell-

Options :



1. % dd
2. ¥ AN
3. % sy
4. % @Y

Question Number : 177 Question Id : 7532296247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qIG - AT Weg T T et 3 §-
Options :

1. ® dlal —dToll

2. % dS - dlal

3. ¢ T fddd — ETall

4. % qob fadeh - faen

Question Number : 177 Question Id : 7532296247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
q1G - AT XToq G BT Tt o1 &-
Options :

1. % dlal — &Ml

2. % dIl - dlal

3. ¢ T fdcieh — &Sl

4. % qop fadep — faen

Question Number : 178 Question Id : 7532296248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y FEAH BT 3 & foTT TE GeraR HH A 2
Options :
1. ¢ A9 H 4 IS



2. % = fear
3. % QTSI IBTAT
4. % 91| 9 IgaHT

Question Number : 178 Question Id : 7532296248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 FEATH HRAT 31 I T 5T GETaRT HIH 1 57
Options :

1. ¢ T H o SSH

2. % i fagm

3. % TS IS

4. % D] T IJH]

Question Number : 179 Question Id : 7532296249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STA-HTd W YEREIe A ifad T wet 3ref 3-
Options :

1. % BTH BT SATeH!

2. ¢ S H g@d ¢ arell

3. % R T Tl

4. % QIfGRI=ITCA ik

Question Number : 179 Question Id : 7532296249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STA-HTd o YRS b ifa T Tet 3ref 3-
Options :

1. % HTH BT STGHT

2.« I W ggd ¢ ardll




3. % g ¥g- a1l
4. % Qfaqend fad

Question Number : 180 Question Id : 7532296250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“foTeT &1 dfG 9gd e faudr g I aTed & fory o1 & e+t SrfS 82
Options :

1. ¢ GOt BT

2. % dig §gd

3. ¥ g}

4. % feEarg|

Question Number : 180 Question Id : 7532296250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfdfe 1 afe Igd Yrax faad B 1 ate & forw ofr & i+t orgfs B2

Options :
1. ¢ g &1
2. % diq 9gd
3. % X
4. % feEdr gl
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Question Number : 181 Question Id : 7532296251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIE § ey o1 e saxy fora= e | o o fard =1 & -t 3RIfS 82
Options :

1. % TenH

2. % ey &1

3. ¢ TS a2y

4. # forg =gl

Question Number : 181 Question Id : 7532296251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tten § ey o1 3iRfer srawy fora= afeu | areg & far oiwr & gt 3IRIfS 82



Options :

1. % g d

2. % A9y &1

3.« U@ ST
4. % forg= =nfeu

Question Number : 182 Question Id : 7532296252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafered & Q 1 91 Weg dHH 82

Options :
1. % 75
2. % 1Y
3. % g
4. ¥ 1[5

Question Number : 182 Question Id : 7532296252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofired o ¥ 319 91 Wsg dd 2
Options :

1. %75

2. % 1Y

3. % g

4. 1[5

Question Number : 183 Question Id : 7532296253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o 1 Weg dga 82

Options :




1. % g
2. % 9o
3. gal
4. % 9%

Question Number : 183 Question Id : 7532296253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o 1 Weg dgd 82

Options :
1. # Yc
2. % YU
3. ¢ gg!
4. % ddb

Question Number : 184 Question Id : 7532296254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘ﬁ:l'qd)ﬂm\flllé,‘lll’ OIIOMWGYJIG%-
Options :

1. ¢ Y Hidsd

2. % JHIT HidH

3. % gdoqyg Hidw

4. % T IAHH

Question Number : 184 Question Id : 7532296254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
999 ol TR STT1° IR BT DI %-
Options :

1. ¢ A Hiaw




2. % JYreg Hidwg
3. % gdoqHe Hiaw
4. % Ty gdam

Question Number : 185 Question Id : 7532296255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘gg fa=ITera TR UT1” 9T 1 BT 8-
Options :

1. * gH Hd

2. % AT Hd

3. % 3rquf yd

4. QUi A

Question Number : 185 Question Id : 7532296255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“qg [qeITerd TI1 AT 1> IR 1 BT &-
Options :

1. % HMH Hd

2. % A Hd

3. % 3qufyd

4. ol yd

Question Number : 186 Question Id : 7532296256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g T BT 1> TR b1 BT &-
Options :

1. % Wi adAe

2. ¢ FHTT TAAM



3. % JHERT 4d
4. % qof gdqH

Question Number : 186 Question Id : 7532296256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g T BT 1> IR BT BT &-
Options :

1. % iy gofue

2. ¢ U IAHH

3. ® {HMN Yd

4. % qUf A

Question Number : 187 Question Id : 7532296257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed o 9 &9 91 are iy a1 82

Options :

1. # JGHIRI JCh HIT T

2. % T4, A & g1l ¢ |

3. ¢ TS 9T 3 TRId DI et I A TRid ol ARy i
4. % FEHT A TR P T 3R AR

Question Number : 187 Question Id : 7532296257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o 9 & a1 agd iy ae 82

Options :

1. % SGHIRI CHR YT T

2. % TRI9, IGHIRI & g1l e T

3. ¢ T3 SR A R4 &1 e, 34 A TR ol ARy ot




4. % EHR A TR Pl qel 3R R

Question Number : 188 Question Id : 7532296258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRed & § &1 91 9T Igad ared 82
Options :

1. ¢ B A 9 {1 3T a8 WRiaT § Jtha gl
2. % YO DHIA S HRUI B URIET T Gl gl

3. % B A oY o foh 98 ulle ¥ 9w gal

4. % Ui H IBa gH b g B A 9H foha|

Question Number : 188 Question Id : 7532296258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & @ ®F 91 ared Ygad arad g2
Options :

1. ¥ B A 9 [T 39T a8 TRien U Ithd gl
2. % Y HI S HRUISH URIET T Thd gal|

3. % B A 9y fova foh o len o Iohd gal

4. % TIE T 9hd g & o1 & = o foba|

Question Number : 189 Question Id : 7532296259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& faermf < 3 ot foer foarvm farg a1 v faa e &2
Options :

1. % gydrae g

2. % IS g

3. % fouparfeaiyes g

4. ol fag



Question Number : 189 Question Id : 7532296259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< facrmeif wreqt 3 e fom farmm forg o1 AT o wman @
Options :

1. % UyarEs g

2. % IR0 Tug

3. % fowpaTieeiys fig

4. ¥ ol g

Question Number : 190 Question Id : 7532296260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied # Foxie g 1 a1 e?
Options :

1. % |

2. % |

3. W

4. % ;

2

Question Number : 190 Question Id : 7532296260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o fdee fog o A g?
Options :

1. % |

2. % |

3. % .

4. % ;

b



Question Number : 191 Question Id : 7532296261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 B TRy Ual ot fign i &) o e 8
Options :

1. % 3Tehied

2. % gy

3. % HJHTT

4. v hH

Question Number : 191 Question Id : 7532296261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 B Tad Uel @1 e Tfa &Y o e 8
Options :

1. % 3{TehT&T

2. % Yl

3. % AHJHTOT

4. ¥ HH

Question Number : 192 Question Id : 7532296262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39T B =P W B I I L B2
Options :

1. ¥ 98, 319 3R & T

2. % 98, 3TU 3R H ek

3. % 98, 31U SR ¥ Tt

4. % 9g, 37 3R H T

Question Number : 192 Question Id : 7532296262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 Y 2 A B 1 9/ &l 22
Options :

1. ¢ T8, 39 3R T |

2. % g, MY 3R H o |

3. % gg, 377 3R H Farft|

4. % gg, 3T 3R & I |

Question Number : 193 Question Id : 7532296263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ryl o1 RepR SMfUd fovan | | aTey o X@ifdd 3= o faRITH o forg Iuged Xeq BT -
Options :

1. % gafdd

2. % qld

3. ¥ Uald

4. % 1e

Question Number : 193 Question Id : 7532296263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el o RePR 3Mftid fvar man| | areg & Raifhd 3 & fR= & i Iuged 2ee 81T -
Options :

1. % gafdd

2. % Q4

3. ¥ Yald

4. % e

Question Number : 194 Question Id : 7532296264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

framffm o eremsr 1 9raw & Rod ®M & fow Suged 2rsg 8-
Options :

1. % HJHH

2.9 3

3. % 93

4, % JHA

Question Number : 194 Question Id : 7532296264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fenff = fow &1 st 81 9T 3 e RIM & T ITgad e G-
Options :

1. % 3{JHIT

2. ¥ 31

3. % 49

4, % JHA

Question Number : 195 Question Id : 7532296265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TEIA TS B 9190 & Rad RM F N Iuged Wsg g
Options :

1. % UTY

2. % Y

3. # AR

4. ¢ UU

Question Number : 195 Question Id : 7532296265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT P MREA AT B a1 o Rad I & foT Iugad Usg gl
Options :

1. % WY

2. % 3y

3. # AR

4. ¢ U

Sub-Section Number : 2

Sub-Section Id : 753229391
Question Shuffling Allowed : Yes

Question Id : 7532296266 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

A-PIC T THTS B 3N A T G H e & oIt TdH &1 a=adwdl & HRUT 3R SR I A+ & (o8 fa1g &I 9gd Hed a1 3R
M &1 THEH 8 & BRI H 31gd TR 81 33T 3 77 S v it § ufd &1 1ry &1 & fore wgufiffiica ok 78 &t sgawn &
oY e vl &1 2amed ug ot U g, R Ui SfR Ao € I S9d 811 W i anffes =P ¥ a8 Faid w81 <&

IS T & YR W Fafafad gl & Sw fvm|

Sub questions

Question Number : 196 Question Id : 7532296267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey A fop TSt Y A 7 e B9
Options :

1. % URIOG g

2. ¢ dfw g

3. % SIG g

4. % gF I

Question Number : 197 Question Id : 7532296268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fadTE 1 HEw ¢ & Ul -1 BRI YT
Options :

1. #® GRER HIAT

2. % GRTRU] B! FGTaT &1

3.« GRIERU] &l Al
4. % r-fadr

Question Number : 198 Question Id : 7532296269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sfcafed gug o wi o [Rufd Ht ot
Options :

1. % 3Qfde ied

2. ¢ ¥ TRAG

3. % grHTiors 2 I g

4. % Y ®U Y WA

Question Number : 199 Question Id : 7532296270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfcaRd I ¥ wl ford =0 1 w1t <t
Options :

1. % raTioIch

2. % i

3. % giRaiRe

4. 3D

Question Number : 200 Question Id : 7532296271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT BT AL BT | -



Options :

1. ¢ IR
2. % g

3. % RN
4. % gy

Question Id : 7532296266 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

AC-HTAH JATS H G3Y A T4 <= T Ha & o1 I Bt SHTa=addl & HRUT R SHMER B A+ & e faare & 9gd A faar sk
A &1 THEHT §1H & BRI HT 3gd TRATE 81 31| 3 I3 o o il § Ul &1 1Y &4 & fore Jgufiviia ik 78 &1 Ao &
fore Teviica 1 <amer ug o Ut gofm, R et SiR wrTioie € I 39d g1 WR ot onifdfe =P 9 a8 fafd = 81 &

IR T & 3MYR R Fgferiad gsi & I diforal

Sub questions

Question Number : 196 Question Id : 7532296267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR ¥ b I B AR 1 f=vn 52
Options :

1. % QRIOI o

2. ¢ dfw g

3. % ST

4. % QI

Question Number : 197 Question Id : 7532296268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f4aTE 1 HE ¢ o Uley o1 BRI Y172
Options :

1. % G hAl




2. % GRTRU] P! §TaT &1

3. ¢ GRIERUI Bl AHl
4. % T-fadry

Question Number : 198 Question Id : 7532296269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sfcafad wra & it o Rufd ot o
Options :

1. % 3 Mied

2. ¢ 3 TRARS

3. % g R A EA

4. % 3Mie FU Y WA

Question Number : 199 Question Id : 7532296270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfcaRad I o %l ford =0 & Ry <t
Options :

1. % T

2. % yififes

3. % UIRAR®

4. D

Question Number : 200 Question Id : 7532296271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“RATEr BT S I © -
Options :

1. ¢ U

3:ﬁ&mﬁl|=ﬂ?1






